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Which oﬁtha statementa g:wan abwe lym

incorrect ?
(1) Statements a and b
(2 Statements b and c
S (3) «Statement a only
[ 4) Statement conly
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GS/2G/200 (5) [a]
5. Romaka Siddhanta written by Varahamihira 5.  STUT00 SD0DS G0 dgroso B8
deals with : QODOHODNA ?
(1) Chemistry (1) B0HS o
(2) Mathematics (2) _e3sso .
{ (3) Astronomy ) L® 2%)?“‘35 T VO ]
(4) Medicine @ &Aoo
6. Which one of the following books was not s g%é? > TRIGHD  (add %o
written by Harshavardhana ? @ § BAHEE;
(1) . Priyadarshika @ SEsd
(2) Ratnavali @) SrSos
(3) Nagananda (@ sooo0 )
(4) Kadambari
( J 7. [0S BSFoSH Ho0H0D  8od
7. Which of the following statements is 2 DO 5 ?
incorrect with reference to Permanent (1 B Uv§ 95;&)"@50 179565 Borrs,
Settlement ? DB 0 2,08 8" BT
(1) It was introduced by Lord Cornwallis in (2) 2O 2DOTPD LrNE AHBATOENT
Bengal, Bihar and Orissa in 1795. DEB0D00 B FEDS 5 SrEmen
(2) It declared Zamindars as the owners of 2350808,
thehland and they were given hereditary 3) 2O S A6 o or |HerDE TovrBod
rights. * A
P )
(3) It was planned by John Shore. @ ggﬁ;}sf;:?&o&a@owe' A Swdo
(4) The amount to be paid by the landlords ’
was fixed. 8. D& ] oA ader I o 3858%0
, R 500 180 DS oBSST D8 e@ond
8.  Match List I with List II and select the correct SEFE) HBOB0A -
answer using the codes given below the lists : Y gy o Y
List 1 List II A kit
(Delhi Sultans) (Reforms) ) (c;igﬁ D) P (503 Feoew)
a. Muhammad bin 1. Branding of Horses 2. DTNE DS HEE 1. Hore @rob
’I‘tlxghizq o et b. ©erHQS a)@ IL. &3S $8)
b. i i IE Jurre -
Alauddin Khalji IT oken Currency ¢ Bepedin ML Se8arsse
¢. Iltutmish III. Development of ITANDIA
Irrigation d = Fa v, =
d. Firuz Shah IV. Introducing Silver P& o SIS ggégg;os‘
Tughlaq Tankas
SSrgraren :
Codes: - b : d
% ¥ SN SR m
(1) II 111 vV o1 : ™ e
2 II I v 111 = - -
@ | G AN
(4) III v I I (4) I v I II
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9-

Among Ashtapradhans of Shivaji,
Sar-1-Naubat was associated with which of the
following tasks ?

(1) Finance Minister

(2) Military Commander

(3) Foreign Secretary
(4) Revenue Minister

the

(6)

9’

[A]
FTd T NTOOS, FB-a-Jos
808 D HAS HVOOOBVE0D?
(1) 0% o

(2) IERLBL

(8) JBTFol 78588,
(4) BI&rg Dol

10. =D& 1 H005w 2rde I o 2838wicko
7 A oo 808 A TBS I8 eand
10. Match List I with List II and select the correct JIFETR), HEOB0S :
answer using the codes given below the lists : el and Il
List I, List I
(Leaders) (Revolt Centres) (rabsHen ) ggfz;&v
a. Kunwar Smgh' I Kanl:.:ur 8. %556 HOh L s8mb
b. Hazrat Mahal II. Delhi b. TS HIS I &9
c. Nana Saheb III. Arrah, Bihar 8. e S X 1L e\ Hs
d. Bakht Khan IV. Lucknow d 2P S V. o8
Codes : QSrpraren :
a b c d a b c d
1 1 11 III IV @) I 11 III v
(2 1 I v il 2 I 1 v 111
(3) III v I I (3) I v 1 I
4) IV I1I II 1 4 IV I II I
11. The All India Trade Union Congress (AITUC)|11. &d 20805 (B& Orddds solie
was formed in Bombay in 1920. Who presided (AITUC) 192065 S'0aroneS’ 002808,
over its first session ? TR FGE JSrIFTAE IS esES
(1) N.M.Joshi éboj:;i;? o
(2) Lala Lajpat Rai @ o °); -
— (2) erer oBdS oD
(3) C.R.Das
(4) Subhas Chandra Bose el
4) grd Sold IR
12. Which Ag¢t introduced the Communal 12. 9 300 HSTEHOLS I ‘5535"9‘53
Electorate System ? (D3 03086?
(1) Morley-Minto Reforms ] 1) mog DO OEOeN

@) Montague-Chelmsford Reforms
(3) Rowlatt Act, 1919
(4) Government of India Act, 1935

OTN- iy
(3) T SYo, 1919
(4) 286 |H2Hed s BS& 0o, 1935

QO OED
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13. Consider the following pairs regarding
Carnatic wars :
Wars Associated Treaty
I. First Carnatic War Treaty of
3 Aix-la-Chapelle
I. Second Carnatic War : Treaty of
Yandabo
III. Third Carnatic War : Treaty of Paris

Which of the pairs given above are correctly
matched ?

(1) T andII
(2) IIandIII
(3) TandIII

14,

(7)

18. ¥o)¢38 ‘cﬁng'e')éo Qow0H0D  80H

@

2SO HOHedosod : ,
algrey D0 2.09)050

L JwSSE0mes @ o)-er-ord®
oNPo 223)080

II. Bodds 8oe38 : oSross® adyodso
aBGI0 : ;

ML $xre8sS Somye88 @ 216 253080
e \\Vinlo! -

2 A0S BSOS’ AD HOT HOSerow ?
(1) IS8 I
11 58050 11T

(4) None of the above

(3) Io8asn Il

The Vaikom Satyagraha which started in

Kerala was associated with :

(1) Eradication of Child Labour

(2) Temple Entry Movement

15.

(3) Women’s Liberation

(4) Vaishnavite Movement

What was the code name of the Indian armed
forces operation to liberate Goa, Daman and

Diu from Portuguese rule ?

(1)  Operation Kiran

(2) . Operation Vijay J

(3) Operation Rajiv

(4) Operation Pawan

|14,

15.

4 DI

B866° (082S BES dergizo H08

L Q020H0DIS :

1) 2ro 5850 &S

(2  eedD (DIF adsdo

X L

@) Sarer daws

(4 B &S50

Ffar, DS HBH oo AR
FOS 08 D FHaRE s
RO Svren TDS BIBAS €6 B
Qe

eD0AS 8865

(2) ©IBIAS D220

3 esX0HSorsS

- (4) BIBAS DS
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16. Match List I with List IT and select the correct
answer using the codes given below the lists :
List List II |
(Governor-General) (Treaty)
a. Warren Hastings 1. Treaty of Salbai
b. Lord Wellesley 1L - Treaty of Bassein
¢. Lord Minto-I III. Treaty of Al
d. Lord Hardinge-I IV. Treaty of Lahore
Codes:
a b c d
1 I II III v
2 1 I v I
(3 II v L I
4 v 111 I I

17.

Which of the following is nof a Harappan

(8)

16. =der I Hdakw rde II o 23&‘55’36&5:56
orsor 1806 DS T8S B0 eand

HIPFR) HBosod : :
arde 1 arde Il
155826 23685) ROQ)

a. TBSEraoh) L . deryon Qod

b. erd ISV L 22)8 508

o oBmos T 1L e%y858 500

d. erd S*Qoh-1 V. e3vb Sod

DArprre :

. a b | c d

a I 11 111 v

Thaa i B

3 II v I II

4 v I I I

17. 808 58S ) (HBF0 S IO ?

18.

site ? 1) e BS86
(1) Sutkagendor (2) :‘()5'52,&)63
(2) Surkotada o

(38) &Fyivo
(8) Sohgaura

4 oD
(4) Rakhigarhi

Which of the following inseriptions mentions |

the names of Ve&ic Gods Indra, Varuna, Mitra

and Nasatyas ?

(1) Mansehra
(2) Shahbazgarhi
(3) Boghazkoi

18. 808 T8S’ d TIS0 B¢ BISBS 0B,
S5, Wi HOH TOMIL  ED

0,08 ?
1) DI

@) s

(3) a0 J

(4) Junagarh

4) ond
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19. Which one of the following pairs is not
correctly matched ?
(1) Babur — Battle of Khanwa
(2) Akbar ~ Battle of Haldighati
(3) Humayun - Battle of Bilgram
(4) Jahangir - Battle of Chausa

20.

Arrange the following events in the correct
chronological sequence :

I Cripps Mission

II.  Gandhi-Irwin Pact

III.  Chauri Chaura Incident
IV. Poona Pact

1 LI I, 1Iv

(2) L I, IV, I

(3 1Iv, I, III, II
(4 II, IV, III, I

(9}

19-

20.

800 2SS’ B HOT HBNTKD ?

(1) 2rab - Sers Qo
2 o6 - 5Osred aweo
(8) SJVANS -~ D& Ao
(4) z=3ohd - T oo

808 HOPOIOH IS FOESFHIE0

T @G )05 :

L (§3) AS

I mod-adsS 25080
L  F8-F0° HoHeres
IV. o ad)odo :

() 1, 11, 111, 'IV

(2) II, II, IV, 1

@) IV, I, OI, 11
4 "IV, HLL T

2L 808 O WO T KS8YE 2SS e

21. By which one of the following Acts was the| ~ ZOTS®D 2788 A36)8  assSw

Governor-General of Bengal designated as the QADOTTED ?

Governor-General of India ? (1) BHsBe30h &0, 1773

(1) Regulating Act of 1;;73 2 ©Eb &0, 1833

(2)  Charter Act of 1833 (8) 2r0ed |H2eds 380, 1858

(3) Government of India Act, 1858 (4) 2;1*665 (220es 5 3&0, 1935

(4) Government of India Act, 1935 22. 2SS0 o g Sosoeis soodt
22. During India’s colonial period, the Downward Fods  Su'¢ dFoso  BE

Filtration Theory was related to : NOVOHODIS :

(1) Railways (1) Bgen

(2)  Education 2) J&§

(3) Irrigation 3 JdB8>HSe>

(4) Poverty alleviation

(4)  DSBE ABmoS
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23.

Who said that “a single shelf of a good
European Library was worth the whole native

literature of India and Arabia” ?

(1) Thomas Babington Macaulay

(2) William Jones
(3)

(4)

Henry Colebrooke

James Mill

Which of the following is not correctly

matched ?
Person

Behramji M. Malabari

Organisation

(1) Seva Sadan

(2) Radhakant Deb

|

Deva Samaj

25.

Pandit Hriday Nath
Kunzru

Mukundrao Patil

(3) Seva Samiti

I

(4) Bahujan -

Samaj
Who among the following introduced the Blue
Water Policy ?

(1) Alfonso de Albuquerque

(2) Pedro Alvares Cabral

(3) Francisco de Almeida

26.

(4) Nino da Cunha

Lottery Committee (1817) of the British Rule
was related to :
(1) Eradication of Epidemics

(2) Revenue Settlement

3)

Town Planning

(4) Education

(10)

23.

[A]

“2,8 0D CLrTRARS Bl2d By dohS
nS) ESBio DO WBDATS
080 FAE FrarErsR S0 NJIE” @
23 Tar B ?

26.

1) TR Dol DS

@ 20 &5y

@ W TS

@) BN DS

806 ¢3S’ DO JOTT HOV OB ?
Do 358

(1) DT IS -~ BErod Qo. Heerd

(2) BN dSrao — Oprsos TS

8) DT IWVSB - DOAE FONCH TH

goole>

(4)  adveRd - SnF00HTY S
RAT20

808 &6 2 T OV B

SBFDErS ?

1) ©SHS') & ®wen)ss)

@2 E wersd srd

3) @YY & o8

@) S @ oy

DB5 s T&y ereod L8 (1817) BRSE
Ho20HODINE ?

(1) 0TIV B IOS
(2) B33 3S06
3 e Lx)s:réé

(4) DS
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27.

A e g Sl WS

Who founded the ‘Indian Societ.y_of Oriental

Art’ to revive ancient art traditions of India ?  |*

(1) Rabindranath Tagore

(2)

Abanindranath Tagore

28.

(3)
(4)

Dwarkanath Tagore

Debendranath Tagore

Who among the following had resigned from
the Viceroy’s Executive Council protesting
Jallianwala Bagh Massacre ?

29.

(1) Sankaran Nair

(2) Saifuddin Kitchlew
(3) Satyapal

(4) S.N. Banerjee

Which of the following pairs is no# correctly
matched ?

30,

(1) Aligarh . . — Sir Syed Ahmed
Movement Khan

(2) Faraizi —  Haji Shariatullah
Movement

(3) Tayuni —  Rashid Ahmed
Movement Gangohi

(4) Abmadiyya -  Mirza Ghulam
Movement Ahmad

Which of the following statements is correct
regarding the Lex Loci Act of 1850 ?

(1) It prohibited child marriage below the
age of 14.

It extended the prohibition of Sati all
across British India.

(2)

(3) It provided the right to inherit ancestral i

property to Hindu converts tof:
Christianity.

(4) It granted the legal recognition to widow

marriages.

U

AR [A]
27. r8SBIOSD DS & JoPTArOD
FHIHRBOSEIE | ‘BOADS e D
8,000 sl 5K FDoTE?
(1) 8o o°ird
2) ©DIOTH TR0
3) Oi3%% ol
4 BTIoSd ooiird

28. 2OADS Tererf SrE50HSD B
808 78S’ DB BIRADH Ty OErsE3S

E‘aﬁdnoé OB T 3 DA ?
(1)  $0558 o0

2 DS 83S

@) DS>S

@ NS B

29. 808 2SS’ IO IO KOS OB ?

1) ©dNG - 285096 @b
&80 AN

@2 $B# - 58 HoaHeer
€5¢55e00

@) ST - Ond eumb foher
&S50

4) MBS - P hero eds
=T TN Vo)

30. 1850 B5) S8 3808 5020800 80

TES DB (DELSED B ?

1) 20 14 S oy IFTOH
ARA0DoA.

2 20 D8 rSSBI0 ©oser H&
ARFR) AVBoD0A.

@ 2O 1BI8 HS0SE 3708
oY OR 36 5800 D
FBHeb gore ol 802
@000,

@) 2O B0 ITTOH SHHEDS

HB0D AN Y0d.
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32.

SECTION B
Geography

31. Consider the following statements :

L. According to Continental Drift
Theory, about 150 million
vears ago, Pangaea, the super
continent, had split into
Laurasia and Gondwanaland.

II.  About 65 million years ago,
Godwanaland further broke up
to give rise to other contiments.

Which of the above statements is/are
correct ?

(1) Statement [ only

(2) Statement II only

(3) Both of them

(4) None of them

Question Deleted

Identify the incorrect statement :

(1) At the focus of an earthquake, the

energy is released.

{2) The point on the surface nearest to the

(12)

DES-B
D

31. 808 HESHD H68BoN0s ¢

L oddS0S Froso (D580,
XFS 150 WOADS HoSseyore
§8¢%0, . OB/ o303
DHIF*PoBo, STBACT DBk
Fosarerod en rr DA od.

L QS 65 WOCHS Hodes yore
§os0, RMomgarerol  asd
VOGS JTYNH OSSR
DO0ST SN0,

D (HELIOS’ DB/ DBSD ?
(1) 1DELS | Sredad

2) 1D%S N S edsd

(3) Bodr

@ s
Question Deleted

32. A85%) (HE8SD Hboiod :
(1) ZrEodT8) 3, 48 DB ©:HS0B.

(2) 28079 . od  HJoSD
G0SO0D &) DY

33.

(GGranite is a/an :

(1) Extrusive Igneous rock

(2) Intrusive Igneous rock

(3)  Mechanically formed Sedimentary rock
(4) Mechanically formed Metamorphic rock

focus is called epicentre. @HT0(H0 ®0oerdd.
(3) FEpicentre is the first one to experience| (3) &8omred A3 @QﬁOLCf)O NS
the waves. SEEOW.
(40 Epicentre is a point directly below the “) @ngLéo @%& 2;&3%0&33‘5.% Sorr
OIS GOT S0LE0.
focus.
33. RorBS 376

(1) &0 ehye

(2) ®0eGN @h)Fe
(3) ASFOSBEOMT B IAS @IT.D I
(4) OrOSBBZOMT IBIAS Brarosss Fe




GS/2G/200

34. Match the following :

(13)

34. 808 3 DB Y0 :

(]

List I List I arde ] arde Il
(Landform) (Geomaorphic agent) (200, sr00) (2070, 0% S°50)
a. Delta I. Waves and Currents a. @3y L &domren HBasw
b. Cirque II. Winds (Dararen
¢ Cl:f:s III. Running water A g
c. 89) I (H38%r0T Ak
d. Sand Dunes IV. Glaciers A 2gooyen IV, Srarddoen
Codes : Darpraren ¢
a b e d a b c d
(1) =1 IT III v )y 1 11 111 v
(2) II I v II1 (2 II I v I
(3) I 1 v 11 (3) III I v I
(4) 1III v I II (4 1II v I I

35.

In which of the following layers of the
atmosphere do meteorites burn up when they

enter from the space ?
_

(1) Mesosphere
(2) iihermasp}n‘-n*e
(3) Ionosphere
(4) Exosphere
36. Match the following on heating and cooling of
Atmosphere :
List I List Il
(Process) (Mechanism) _
a. Advection I. Horizontal heating
b. Convection II. Vertical heating
c. Insolation I[1. Direct heating
d. Conduction IV. Heating the lower
layers
Codes:
a b c d
(1) 11 III v
64 S 1 I v 111
(3) 1M1 I v It
(4) 1III v I 1T

35. GO ) ®OS850 Hod (HITODSH D,
808 [WIRES o FEsbn oo

&) o) ?
(1) D&F e398220
(2) 2 W00

(3) @OSrS esdBeno

4 OF) eS80

86. TEIE0 JDBERRO O VOVLL0 D

808 3D 0N Yok :
e arder I
(2358) (DT50)
a. & oo I §a2 dSrodd
(24N Te!
b. &R SoddrSo I &g wdSo
e 8580 I |0e8s8 0850
d. &Q TS0 IV. &% Srden
JBEY0
QDSrprTeD ¢ |
a b [ d '
31 11 ITL v
2y 11 I v II1
(3) III I v Il
(4) III v I I
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87. Consider the following statements : 317.
Kavaratti is the largest city in

Lakshadweep Islands.

II. Nine Degree Channel separates Minicoy
Island of Lakshadweep from Maldives.
Which of the above statements is/are correct ?
(1) Statement I only
(2) Statement II only

(3) Both of them

(4) None of them

38. Match the following :
ListI List II
(Ocean Bottom (Characteristic
Relief) feature)
a. Continental I. Presence of canyons
Shelf and trenches
b. Continental II. Associated with
Slope active volcanoes and
strong earthquakes.
c. Deep Sea Plain III. Presence of massive
sedimentary
deposits
d. Oceanic Deeps IV. Presence of fine-
grained sediments
Codes :
a b c d
1 I II II1 v
{2) 1 I IV I1[
3) I I Iv II
(4) 1III v I I
39. Identify the correct arrangement of the

following water bodies as per their salinity in

decreasing order :

(1) Lake Van > Dead Sea > Great Salt Lake

[A]

808 |H8ELSOD HBHESo0G :
L. o885 AI0S'T 5368 edDd
Sdo.

II. S8 A T8 i858
AFOH AR Srdye $Hod &

BROA.
D DELSOS’ DO/ HBSD ?
(1) (D85S I Sedad
(2)  |1DELS II 7D
(8) Bodkr
4) 5N
38. 808 783 JBFF OB :
ardes 1 arder Il
(DSBS (D3P &F0)
ADalr®) nS) @)
a. OBBSY L eomrgrensHoot
@0t e HSe s
b. od8sy I fosrie
N @f) D& geen SHBa
2O Arored
02080 DA
e lele V)

39.

. e S IIL 258 955D o
DTS00 a8 |
d. IO IV. g Benyerd

M0 ErAS @I e &8
DIFTRED
a b c d
(1. II IT1 v
(2) 1I I v m
8 W 1 v 11
(4) 1III v I II

T oS80 (D580, SPN) EShos
808 A IO IS ©HOED
tH8oNod :

(2) Dead Sea > Great Salt Lake > Lake Van
(3) Great Salt Lake > Dead Sea > Lake Van
(4) Dead Sea > Lake Van > Great Salt Lake

(1) SEors>06 b 106 e 88 )

2 Gon> Lﬁeﬁ @‘m > 086 S
3) PSS SE>BED>SE S
4 BEH>TE>S>AS > S8
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40,

(2)

(8) mmimg

@ ’I!ie Hale

41.
in:

@ T
2 Thel
(3 Theun
@

Kali rivers is called :

Prmesmthetemperatemlan&m{

. G205 Soas o e

R [ {4} S&ﬁ?éﬁb&»mﬁa
mpmwm&mmmmazmm@@“m m&&n 9 Se NPy &S

s@@ mﬁ‘é‘% ﬁém -63.\:6 Wﬁ‘%‘)

aéu) 3388 66 ziré.mn agg,a
ATHOW T .

(ﬁ S%Os‘

SEFOCTO FD) D5 Dendrd :

(1) Punjob Himalayss
(3] 1 R

3
)

Which of the following
Dhuandhar waterfalls 7
o)) Thehfalmxadx
@) 'meNammra TS
(3 Thelndus
(4) The Brahmaputra

foldd. 208 T8 5 38 GTorE soTed)

) Sozd Srisrocsren
. @ sNBEresren

_(8) rarsS Srirocire
OF w&s Tarediren

43. érch;) 5000 JEG D08 B S8%

:s@eoa BRPIO0

{1 DS D ©od Tarseo: &’@ae-
58S

ﬁm-o@m So8 FrSeo s'oao

DSBS ?

@ [0
@ s
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45. Pre-monsoon Mango Showers are common in|45. SEIDNST O SN0LH HT ST 2EVED
the coastal areas of : FF 85 LQ‘OE"C? S0 SolOHTON |
[ () Karnataka | [ @ 3ges ’ )
(2) Tamil Nadu (2) ST
(8) Gujarat 3) oS
(4) Andhra Pradesh 4) o QNTE
46. InIndia, very deep black soils are found in : 46. FOSTI0S, Trer SBO 3 Fwen 2K -
(1) North-Western part of the Deccan| Ly s
Plateau J fl)__égz,.s BT g aed
(2) Eastern part of the Deccan Plateau SBIN(TasSP) grrio
(3) Southern part of the Deccan Plateau 2 o4 DELrD &) 270
(4) South-Eastern part of the Deccan Plateau B DR Sy Qe
4)  G8S HELr Ty esiyoh grio
47. The most widespread forests in India are :
47, 23888305 0 DYYBSS ©iHen
(1) Tropical Evergreen forests 59
(2) Semi Evergreen forests (1) GRD0BE Hebeh TS eBHen
(3) Tropical Deciduous forests @) L& Hebed O @@w
(4) Temperate Deciduous forests (3) GRDOGS SHTE,) BN
48. ‘Match the following : @) IHITY 0o BH0B) BN
3;:; ;rj ?53‘”_;”) 48. 80O F¢3Q S0 )08 :
ardel eIl
a. Vamsadhara I. Nallamala hills (38 (@31500)
b. Machkund II. Nandidurga hills a. dodgrd L Sede Soden
¢. Gundlakamma III. Jayapur hills b. SrS806 IL  Sobehng Socken
d. Pennar IV. Mudugal hills o SRE T HONEr G SR
d. 276 IV. S Socdsen
Codes: Sdrgraren
a b c d a b c d
() I1 III v (1) 1 I1 I1I
2 1 i v 1 (2) I I v I
38) IV I II I 3 IV ITL II I
(4) II IV I II (4) III v 1 II
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49. Identify the incorrect statement :

(1)

The geographical extent of Laterite soils
in Andhra Pradesh is very limited.

(17)

49

. 085D 15535 HBoBoA :

(1) SoIPHTTS’ ereseS Boro 2THYE 566
e 0050,

2

Laterites are formed in semi arid anﬂ

low rainfall rgﬁi_ons.

(3

(4

Laterites are less fertile and appear red
and yellowish red.

Laterites can be used to grow Mango,

Cashewnut orchards.
50. Match the following :
List I List IT
(Scheduled Tribe, (State/Union
Territory)
a. Gaddis I Sikkim
b. darawas II. Jharkhand
c. Santhals ITI. Andaman and
Nicobar Islands
d. Bhutias . IV. Himachal Pradesh
Codes :
a b c d
» 1 IT 111 v
(2 1 I v III
(® v 1m 11 1 )
49 m Iv I 11
51.  Consider the following statements :
I The monsoons are primary winds,

l Question Deleted

II. The monsoons are confined only to
the tropical lands lying between
20°N and 20°S.

HI. Distribution of rainfall received
from the South-West monsoons is
governed mainly by the relief of

the country.

Which of the above statements are
correct ?

(1) Iandll

(2 Tandlll
(3) I andII
(9 I, 1l and III

50.

(2) @ DAY O S&yS SGeso &)
Doroers’ eresdSen D8 EE .

S0 &
DY DBAL DY AHDH S0
QDI QW.

4 SDG, BATDAE Sood DodardE

&3S0 GIBIAOESD).
808 8 H88Fe Yoh :
il e IT
(RS &) (0% 0/FolSFOes
RT°030)
a. Q% L %0
b. 230°5°% I 2808
¢ dowrd . AL ©0d8rS Bk
D28 Ahen
d. 2°¢30rD IV. 8 (555
SSrgrarey : '
a b c d
1 I1 111 IV
2 I I IV 111

{(® v 1 11 1
- AN Sy

51. 808 (DESOD HBRBoR0R |

L DBdSTen oD HodE
RSTT"EN.

I SHDSTen 20°N OSKD 20°S AV
&) GRHOBODToEOH SrSH
QBDS D &oerow.

. S¥o RV ABHEen JHS
DHIITO  HoB STy  S8res
DB (DGFSorr (Hardeso Traw.

2 PEses .‘.)Q QB ?
(1} 1:08a% N
(2) 10600 m
(3) NdA™
M) 1110850 M
Question Deleted ]
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52. Match the followings - T s 808 oD 568008 ! -
List I - Listl : el zDe 1l
(Functional (Example) _
classification of town) - (& g;j Lare)s '("_.‘? D _f )

a. Mining town 1. Jamshedpur 8 ADOESSESHH0 L 20RESE
b. Industrialtown  IL  Ankleshwar b. TN Shmo  IL ©0§SH0
¢. Administrative town III. Udhampur e 3rossPoo ML &ooyd
d. Garrison Cantonment IV. Gandhinagar d. S5eads® DIXDTY 1IV. rro&«‘&iﬁ
Wwa i Je0 g

Codes : : DSrEERreD

2 b c 4a ' . b oW

@ 1 i1 1 A

W ¥ o m e T e
@ . 1 v Rl A S
T Sh T WE . B .
(4 m I Ll

53. (808 Sr@foze Hoted' 8 ‘B sowrr
53. Which of the following oilseed crops is grown|  SM& oA ?

as ‘rabi’ crop only ? _ (1) S6o¥s8
(1) Groundnut : @ ese |
(2 Mustard : 3) SPSHHD
@ Susllower W) e
4) Sesame

B 108 dEph OGS’ EsBisD
54. In which region in India was tea plantation D (Fogos dosrs Sve mg«&l

started in the first half of the 10% centwry? | | @r80foertr?.

@ Br:hmapu:m valley - [ 5SS &
@  Dazjeeling region mMo

(3) The Nilgiris 8) Dohten

(4) Cardamom hills {4) oSretoe Foden
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56.

56.

Match the following on industrial clusters
developed by APIIC Ltd. in Andhra Pradesh :

List I List 1T
(Location of the (Type of
Industrial Cluster) Industry)

a. Gandrajupallein L Silkand
Chittoor region Garments

b. Kopparthi in Kadapa IL Engineering
region

c. Makavarapalem at  IIL Aluminium
Visakhapatnam

d. Machilipatnam IV. Jewellery

Codes:

a b c d

M 1 I III v

2 1 1 v 111

3 IV I 11 I

(4 UI v I II

In which place in India was the first cement

plant set up in 1904 ?
(1) Mumbai (Bombay)

(2) Chennai (Madras)

57.

(3) Kolkata (Calcutta)

(4) Pune (Poona)

Which one of the following states is not
connected  with  the
Jagdishpur (HVJ) gas pipeline ?

Hazira-Vijaipur-

(1) Uttar Pradesh
(2) Madhya Pradesh

(3) Gujarat

(4) Maharashtra

(19)

55.

56.

(]

S0 BHBTS’ APIIC OWDE ©DS5HQ TOS
1808 FBFWE 0O DB Y0G

el erde Il
(O T SHE (58175 550)
a8

a. D&rd @rosoSV L H&p DO
ol erNS S|Fren

b. ¥a5@rososD IL 202808
5530 |

c. DFTPHENO P 1. esexsDRCHOo
SrETdarao

d. H0OBE)0 V. Sifen

QDSFGEReD ¢

a b c d

n I I1 IIT v

(675 i € 1 v 111

3 1V 111 11 1

(4) II v I I

rSSTi0S Fneses B0 TS 1904&5°
D B0 Frdovadod ?

1) S»oom (o)

2 T (OEFW)

57.

@) Sl (i)
@) B EF)

808 oolarod 26 A AT TOWIS R ST
46 (HVJ) M5 DHBSE

900" ROB B ?

(1) &SS DD

@) SSIHTT

(3) Haod

@ HSoIR
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58.

59.

Bilaspur is the headquarters of which of the

{20)

following Railway zones ?

South Eastern
East Coastal
East Central

(1)
(2)
(3)

(4)

South East Central

Match the following on mineral resources of

Andhra Pradesh :
List I
(Mineral)

a. Manganese |I.

List IT

(Place in erstwhile
districts)

Forest areas of
Visakhapatnam and

East Godavari
b. Bauxite II. Garividi in
Vizianagaram
¢. Mica II1. Jammalamadugu and
Mydukuru in Kadapa
region
d. Limestone IV. Nellore Region
Codes :
a b c d
@)k II II1 IV
(VST ] v I )
6TRE SR | SR | 1
(4) 11 v I II
60. Match the following tourist spots of Andhra
Pradesh :
List I List I1
(Beach) (Nearest City! Town)
a. Suryalanka I.  Narasapuram
b. Manginapudi II. Ongole
¢. Kothapatnam III, Machilipatnam
d. Perupalem IV. Bapatla
Codes :
a b c d
& 2 T II III v
2 1 I v 111
L@ e i n P )
W v I IT

(4]

58. 508 Q B &S H Derdyb DS
SO §O0N0 ?
(1) edyod
2) &r) a8
@) SrE) DS

(@O e 3: )

59. SOBNTE Pdz SSheD 808 D

QOFL YOS :
arde ] erde Il
@D20) s 207 Pero)
a. roidd L TP 0 SHEAKD
S )N S8S’ eoerd)
(@roeren
b. 2r8)¢5 IL  dachdtsost 0B
c. s LI 5% [@rossoss™d
230307000 805
SESD
d. Sy Horaw V. SQrd (oo
Qdrgrarey ;
a b c d
(1) I 11 I
L® 1 I IV % J
(3) IV III 1I I
(4) III v I II
60. BOIGNTIS'D Horsery ©OB7Ton &6
e S0 06
e | arder 1T
(©e5) (a3 S0l
DE20)
a. Qréseos L 3860
b. OASHA IL 2,0ff%n
c. §85630 L 50d58)0
d. DHJ>Bo IV, 2558
NSrrarey ;
a b c d
@y T II 111 IV
O Iv___ I
W _Iv__im 7 T
(4) 11 v I I
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SECTION C
Indian Society
61. To eradicate child marriages, a unique data

62.

driven approach like ALIVA is adopted by :
(1) Rajgarh district of Madhya Pradesh
(2) Wardha district of Maharashtra

(@

Nayagarh district of Odisha ]

(4) Warangal district of Telangana

A circular structure used by Zoroastrians for

excarnation or the disposal of human dead|.
‘bodies through exposure to the natural

elements and scavenger animals such as

vultures is called :

(1) Dakhma ]

63.

(2) Aparigraha
(3) Sallekhana
(4) Shenshai

‘Diku Andi’ means :

(1) Marriage by exchange in Koya and
Savara tribes

(2) Marriage by capture in Naga tribes
(3) Marriage by probation in Kuki tribe

(4) Marriage by negotiation in Ho tribes

The online portal developed by the
Government of India for effective enforcement
of the Child and Adolescent Labour

(Prohibition and Regulation) Act, 1986, (which

was amended in 2016), is :
(1) SPARC
(2) SRIJAN
(3) YUKTI

(4) PENCIL

(21)

61'

62.

D €
208005 #pd
ey AFTOLH JEMOoSETIE ewdar
(ALIVA) S088 (D85S Ter wrrded
DTTR), WSS 89S50DNT) & :
(1) ~ HSINBISQ o5 K6 2
2 RS P 2T

{ ®

2 AP OR SOT6 2 )

4) SBeornd S8ois 2

FoROHD sTdo S IASFoNST
DSBIfen HIFIEFAE TBY e
Sresren  SHOA  T2oen  Hodd
3028 z=ohJoR airdso Tohdo
00 BHTFAOT J9TS°S o), DD
DD

I O &7 ||
2) ©d/H
3) SBgrar
4) DFAdD
‘A% @0 ®wot

(1) Fob HOBN D38 BKereS oo
&30 200 D0
2 T8 8 ©iFsHn orsor 268

Qa0

@) %8 815 HB%0T (probation) @ 0°
200 Do

1) F (Ho) 8K0S JoHdoe oo
200 ATI0

. 2O HOA Frd S8 (G0 HOASN

JodHolse) $Wo 1986 (A 20168
DS60TH) dPSosor edHen Too
F00 2rded 1DZNS0 o S8IBS FES O
(STANRTARR I TeTa

(1) )5 (SPARC)

(2) 228 (SRIJAN)

(3) o8 (YUKTD

4) )8 (PENCIL)
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65.

Consider the following statements :

I.  W.P. Scott defined divorce as ‘an
institutionalised
terminating the marriage relationship
and allowing each partner the 'fight to
remarry’.

II. The first legislation in respect of the
dissolution of marriage in India was
enacted in 1869, and is ‘Parsi Marriage
and Divorce Act’. :

1III. The irresponsible departure from the

home on the part of husband, leaving
the family to fend for itself is called as

‘the poor man'’s divorce’.

Which of the above given statements are

correct ? -
(1) IandIlonly
(2) II and III only

(3) IandIIl only

(4)  All of the above

Ravindra and Seema are husband and wife.

. Krishna and Madhavi are children of

Ravindra-Seema. Madhavi is married to
Harish and Jyothi is the daughter of
Madhavi-Harish. Then the Consanguineous
Kinship is between : :

(1) Ravindra and Seema

(2) Madhavi and Harish

(3) Krishna and Jyothi

(4) Krishna and Harish

arrangement  for

(22}
.65-

G
&2 808 (HELSON HOKBo0G

L dagd S daHod Do
HoOGTR) B ToHERE HBo
98 2rsDE HI0ITT0 DI
JEL  odDHB0T  doyrisd
DT®YED’ R NG IDOT .

I rés850S° e 5% Ho20HOD
1869¢5° Srrodotsa@e el o
SO ) ITTen  HOAW
darsoe OO’ :

I Q 258 @ a;s'c,ssas'é:réon? R0¢3
Do IVDIER), Hotnoerd) &S
§00 JSOBHER) ‘G FB DS
ASBY (the poor man’s divorce) €Q
©0EFE. '

23 BDYS (DELIOS’ DD HDSD ?

M 156050 I ST

2) 110050 I Sr(edad

(3) 150805 II Sriesad

@) DI,

Do OO B rogiden. xR
SO  Srgden BDoS-Rde e,
SPGB FOAD DTEF0 TOHVOS HOAD
%S IrPD-rbhe o508, e JESE
D0G0ES 50 DO NP GOLNOR :

(1) 5oL SHOAK Badd

(2) SrSd B0 I8

(3) £y B0 %D

4 y3 B ED
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67,

As per the recommendations of the Sachar
Committee, which among the following
Muslim groups needs additional attention,
similar to that of Hindu OBCs ?

(1) Ajlaf

(2) Arzal
(3)
4)

Ashraf
Shaikh and Syed

In the lines of Prohibition of Employment as
Manual Scavengers and their Rehabilitation
Act 2013, which of the following Robots can be
used to end India’s manual scavenging ?

(1)
(2)

Kempa

Vyommitra

(3) Bandicoot

69.

(4) ManavSudh

In which of the following cases is it alleged
that the verdict of the Supréme Court of India
diluted the stringent provisions of the
Scheduled Castes and Scheduled Tribes
(Prevention of Atrocities) Act, 1989 ?

K.C. Vasanth Kumar & Another vs
State of Karnataka

0V]

(2) Srish Kumar Choudhury vs State of
Tripura
(3) Om Prakash Mahajan vs State of

Madhya Pradesh

(4) Subhash Kashinath Mahajan vs State o

Maharashtra 3

(23)

67.

S8 EMeS BIBHYO (9560 & (808

* SN0 AArHRNE roddr OBCe Srddrmr

S5 (3 @5380 &od ?

(1) oF

2 @S

@ oD

@) HE 2805 HoH3B

SRS M Toz AT Ao HBAD
0 JJTTD WO 2013 [HsG0, &
Bod 8BS d FFEDH  &dTWriod
rESTE  Srgdd M BoRof GO

- hOOTIISY ?

Soar
YRV

(D
2

3) 20858

@ ISP

& 1808 T8S’ J TS rded DDOTD
8%y EFS) Ho0 HOoK ETS
86 (oerdde TS BLo, 19895
EBSVS  AVOPIOD  Henthd TROGB
sFDoBSA0E ? .

(1)  B.. 300 50535 HOA ReSen vs
NG 0D Tos

B2 50576 TS0 vs VE &9 (HHS

20 DS DHIFBS vs PS @D
SPIHTT

(2)
(3)

C4)

R SITH HITRS v R ©D
INVRS oy

J
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70.

The Shuddhi Movement to bring back the
people who transformed their religion to Islam
and Christianity from Hinduism was started
by:
(D
(2)
(3)

Brahmo Samaj
Satyashodhak Samaj
Ramakrishna Mission

(4) Arya Samaj

71. India’s first high-tech sports training centre for
Atal Bihari Vajpayee
Disability  Sports’| -
inaugurated on 2" October, 2023 is located at :

Divyangjan,
Training Centre

“The
for

(1) Rajkot, Gujarat
(2) Gwalior, Madhya Pradesh
(3) Ahmedabad, Gujarat
(4) Prayagraj, Uttar Pradesh
72. Under whose Chairmanship was a high-level
" committee on socio-economic, health and
educational status of tribal communities of
India set up by the Prime Minister’s Office in
2013 ?
(1) Dr. Joseph Bara
(2) Dr. Kamal K. Misra
(3) Dr. Hrusikesh Panda
(4) Prof. Virginius Xaxa
73. Who stated that ‘I measure the progress of a

community by the degree of progress which
women have achieved' ?

(1) Dr.Vina Mazumdar
(2) Pandita Ramabai
(3) Mahatma Gandhi

(4) Dr. B.R. Ambedkar

(24)

70.

71.

ol B0 HOG SH HED) [WO
DHBAD  (BRS  HS0SE St S0
Pzod 888 rodr SHsoss
ADNTIETIE O GSLIY A5
@rSodordd

(1) (27 D20

(2)  Hehg3E HAreso

B TN WIS

(4) &85 Q20

25 oS8, 20235 Oarohe o
(CapeloTATSINEM =« BVIREPA o T Yo 2 2O TN WIS W Tor 3
owicods S e Jodo, ‘b w&hd
D6 aFvow  |PACA owd  Hb
ABDOES 8y 58 8050800 ;

1) oSS, haos

@) MO0, SoIDTs

72.

73,

3) eMorard, f‘haac'g
4) (DASrhoees, aSSHTT

ESTFOSD ABRS STO Jdres-es0y,
8150 HOKD oy IBMHOD GS)
Faw 0D 20188 (Do
SOOON0 D38  @PIESS 0D
Tob ?

(1) @b &9 aroe

(2) g0 530S 8. e

(8) b rymsa o

(4) |06 SPAHV 5°)5°)

‘Darden FHoDS |DIS Frond 28 T
JITE  (DEBY  TTD  ©D IS
DTS ?

(1) &85 dar Hzrodsrd

(2) Do Sdrarown

(8) NI'&) mrod

(4) C§°§5 Db, ©023¢50
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4.

After a landmark Judgement on Triple Talaq in
2017, which among the following methods of|
divorce practised
recently challenged in the Apex Court of India ?

in Muslim society was

(1) Talag-e-Hasan

75.

76.

(2)
3)
(4)

Talag-i-Tafweez
Talag-e-Ahsan

Lian

Which among the following IT initiatives
by the Ministry of Home Affairs facilitates
dissemination of information about significant
crimes, including Human Trafficking across
the country on real time basis and enables
Interstate co-ordination ?

(1) Investigation Tracking System for

Sexual Offences (ITSSO)

National Database of Sexual Offenders
(NDSO)

(2)

(3)
(4)

Crime Multi Agency Centre (Cri-MAC)

Special Police Unit for Women and
Children (SPUWAC)

Who defined ‘Communalism as the political

assertiveness of a community to maintain its|.

identity in a plural sociely undergoing
modernization’ ?

(1) Prof. Ram Ahuja
(2)

3

Bipin Chandra

Majumdar and Madan

(4) Robert Melson and Howard Wolpe

(25)

74.

75.

6.

[A]

83585 Serfm 20178 HOBOTSIEDS
88y S$Tge, SNR0 HArs0S ©HHDB0T
D EHO  HOB  Hood adse
rOSTI0SD oM )S T ovTS0S
Jaren BoHhadod ?

1) SE-3-00®

Ser-a-85 5
$er5-2-e95° )0
O

(2)
(3
4)

BINoT  SrdS o5 Sowrd  H5F
SHPES Fore  HB0DS  ArTOR)
DDHBEH I @OBOVEVE HOAD DAE
oare G SHSsoho Tobads Sold

0 dSore So@ss TR 0B

(E0DOBDAN IT S0 26 ?

(1) IS 1€r8ofi PO DB YIS
gy (ITSSO)

2) JASS Berdo o@D NS
e300 (NDSO)

3 B :»é 22D VoS (Cri-MAC)

@)  AS IS HB DS @oh VPSS

(SPUWAC)

‘H8LBH SHHBS)  DIVSIS
3552306 &5 HB0HD TS AOBETRE 2.8

Hodo OwE ozfoh Spiessd
£ 5230" Q) IS DG sDoTdd ?

1)  (F6 oD eIver

2 DS Woled

(3) 2rorrd SHOOD NN

@) O2f DOYS HOAL W SS)
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77. The Dowry Prohibition Act, 1961 enacted by .
the Government of India came into force from :

(1) 20 May, 1961 \
(2) 1% June, 1961
(3)  20% June, 1961
(4) 1% July, 1961
78. Consider the following statements :
I In the 15t Lok Sabha the percentage of
elected women members in Lok Sabha 8.

had crossed 10% of its total strength for
the first time.

II. The 17 Lok Sabha has a higher
percentage of representation of elected
women members than before and it is
the highest ever since the independence
of India.

III. The women members elected to the
Legislative Assembly of Andhra Pradesh
in General Elections 2019 was 11:74% of

its total strength.

The Women’s Reservation Bill, 2023
got the assent of the President on

28" September, 2023.
Which among the above given statements are
correct 7
(1) I II and III only

(2) I, III and IV only

(3) I IIand IV only

(4) II, III and IV only

-

oS (DS 50  GrFoBODS  S8EE)
ARG B0, 1961 ID)BH0B @Hens's
INEAR TR

(1) 320, 1961
(2) ™1, 1961
(3) 2N 20,1961
(4) 81,1961

& (808 |DFLION HBHEIoBoR

L 165 &85035 dQ)ES Hirer Habse
TS0 JSSFOT Indo  SEHY
0205 2008 10% o°e308. "

IL 178 S8 35S 0 F08S Sodrer
D205 (BRGS0 K0S’ 50T &S
TS0 0O HOK rESTTOS
TIS0B850  SDNS  STrgd  2d
e BEor G0, '

2019 B IS Go|QINTT

TOSDY Jwgo oo, INIS
S0re HaDsED 11-74% Sy &.

IIL.

arer 8285308 Dew 2023 Jdpoad
28, 2023 T°(RJe BIrS0 FoHOA.
2 2DYS VEDoS S DD HBID ?

(1) I, 11 8080 I Sr(ebad

(2) I, III 8050 IV Srles

(3) 1,11 0005 IV SebsdH

(4) 11, 11 005 IV Sr(edsdh
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79.

80.

Under the pressure of groups interested in
linguistic regionalism, the President of the
Constituent Assembly of India has appointed
the Linguistic Provinces Commission to report
creation of provinces of Andhra,
Karnataka, Kerala and Maharashtra. In
which year was this Commission appointed
and who was it chaired by ?

(1) = 1948, Justice Fazal Ali
(2) 1949, Pattabhi Sitaramayya
(3) 1950, Sardar Vallabhbhai Patel

on

(4) 1948, Justice S.K. Dhar

Consider the following statements about the
Assam Movement :

I The Assam Movement led by All Assam
Students’ Union (AASU) was started in
the year 1983,

II.  The objective of the Assam Movement is
to identify the migrant people, protect
and provide constitutional, legislative
and administrative safeguards to the
Bangladeshi Migrants in Assam.

III. The Assam Movement was officially
ended on 15 August, 1989 after
coming to an understanding with the
Government of India which found
official expression in the Memorandum
of Understanding popularly known as

the Assam Accord.
Which of the aWe given statements is/are
correct ?
(1) IandIlonly
(2) 1II and III only
(3) IIonly

(4) None of the above

(27)

79‘

T oSS ©d8 &) Jsrde
2LDASE, 88 ool D edidoey,
S0l STes, I8¢ Hoaw TR
Oare Do) AIOE 2558 Hon s
DOBH  EMASH  dchdomrdd. &
EDMASH D H058)808°  DAHVOTTSH
BN T8 DS @8 e Sarordd ?

(6]
(2)
(3)

1948, 290 H=S ©d
1949, HEFD DT THARS
1950, HFB S02rch HBd

(4) 1948, 2RV JR.5. 8

80.

SR YO GE35:00 HBOD & (S0 (DB
HBHBoSos

I a8 o) o) ArAoHR
(AASU) Febyes508° @0 G300
1983 05683508 (D E0I0E.

1. ®J)0 GOEDo BwEy 080 SO0
DO HOOHLO HBAW B HOS'D
20TET SOITHOEH T30, TR
DOAN  DOTOTICDS  SE O
[-ToTatoin < o

PG |1HNS0 G TSod 28
OIS DS Sorgd, @0
o5 ™ DG TohS OO
GOITETS  wn)odo HbHES)
SHTS )0 GO0 wdsdiom
15 &8, 1989 SnAHVOA.

IIL

238 OIS (DELSOS DB/DD HBID ?

I 3558050 IT S
II so80%0 T Srighad
TIT 507 €8add

(1)
(2)
(3)

(4) OB %Y
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81.

82.

Consider the following statements regarding
the PM CARES for Children Scheme :

1 The PM CARES for Children Scheme
was launched by the Prime Minister of
India on 11" March, 2020 for children
who have lost their parents due to
COVID-19 pandemic.

II. The PM CARES for Children Scheme
inter-alia provides support to children
through convergent approach, gap
funding for ensuring education, health,
monthly stipend from the age of 14 years
and the child receives a lump sum
amount of ¥ 10 lakhs on attaining the

age of 18 years.

II. The children who have lost their legal
guardian, adoptive parents or. single
adoptive parent due to COVID-19
pandemic are also entitled to benefits
under the scheme,

Which of the above given statements are
incorrect ?

(1) TandIIonly

(2) TIandIIIonly
(8) II and HI only
(4) None of the above

According to whom ‘the existence of strong
personal attachments and the fact of death,
which of all human events is the most
upsetting and disorganizing to man's
calculations, are perhaps the main sources of
religious belief ?

(1) Talcott Parsons
(2) Emile Durkheim

(28)

81.

82.

(A]
20 85 H6 ALS He%0 KHBoD & (8od

(DELSOD HOHBoLIOB :
L §28&-19 NVPONS ! s*Seorr

$OSohoH FSHhaws due o
D) 11, 20208 @3¢ | DSOS
D0 BE) PB S DS
rSodoy.

IL 2o 85) dO YRS H¢% orsor
VO DD DOBED HBAW FE S
RE0ST Ao OBOHED sEroT,
DS, 850, 14 H0ISITe SOHE)
Do& TJoard WHo&D S0
18 Qoddyoren DoddS DPH
Sn0eS’ T 10 ©F e ©0ES08.

IL §V8-19 D8 sdwomr o8
WRIEDS NOGE Soc, C5edes
B058) $OSohen Bor 2,008
S8 SHHS)  S$DS0OD
FSHond Hen S & HKEo 8ods
DB TOK eoddew.

20 A0S (HELSOS’ D HE5WDD ?

(1 T80k II S|

@) 10ak I Sread

(3) I 805 I Sriessd

@ 3Dy

VOIS S8 oo GDE HOAH -
D0 BT TRS0, TSI KeSH
®508 e $ONOT HOAN ©SsRomr
TY) S oS, DIVFT  Ses
DTITAE DTS SSHE @D 5%
TS ?

(1) ereryed PSIS)

(2) IS B8,

(3) Bronislaw Malinowski

3) |BVTS SrOSDY

(4) Simone de Beauvoir

@) DS & arsSond
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83.

Which of the following Constitutional
Amendments provided rights for making
provisions in favour of the SCs and STs for
relaxation of qualifying marks in any
examination (or) lowering the standards of
evaluation and for reservation in the matter of
promotions to the public services of the Centre
and the State ?

(29)

:880

(2]

B HBE S’ s Srdne J8O0H (Bo)
Swreriodd DdreR) Sfotdo Hdakn
SO0 HBGH TR 1DEHSs DSy
O3S DAoHoS 8BNS FHo )
SO APOK SDETOON DO
ErFrodHotaas 808 o  vrErsol S8
800 ®oBNOB ?

(1) 80" Constitutional Amendment (1) 80 Trargott D0
(2) 82" Constitutional Amendment (2) 825 oregol D58
(3) 89" Constitutional Amendment (3) 8935 Trersotf D

(4) 93" Constitutional Amendment

Identify the country with which the Union
Cabinet of India has approved signing of
Memorandum of Understanding (MoU) for
co-operation in disability sector that benefits

(4) 93 Tvarsof HS86e

Hargoll 2o (pdeniben) |HArBS0
BErdyer, H020H00S Sotos JHFwEo
00 @MY 2,050 DO (D02,050)R
Hodso BaHa8 2rde Bold Ho@dSo

the persons with disabilities (PwDs) ? SrOoDS BT HEowod 7
(1) South Africa (1) SEeE@s

(2) Germany (2) 250

(3) Japan @ =S

(4) Brazil @ @2

A consensual and informal relationship
practised in accordance to matrilineal laws of

& 808 58S’ IBES'D Soardsd HB
OB DS S YrseNs O (DH5E0

Kerala that prevailed among Namboothiris HEB/Y60  @ofisbotads  SHOAW
and Nairs is known as : OTHSOE o200 B 7
(1) Sambandham D) D020R0
(@  Pakulam Pathiravum 2) 5000 H86H0
(3) Pranchiyettan (3) |PDODTDP®
4) &S5y S50

(4) Udakapoorvam
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86. Recently the Delhi High Court has upheld the

constitutional validity of a provision of the
Hindu Marriage Act which ‘prohibits marriage
bei:we;e;_;ilpet:)pla who are related to each other
througl:l ancestors from their pareﬁt’s side
unless their customs allow them to do so’. The
said provision was mentioned in which Section
of the Hindu Marriage Act ?

(1) Section 4(a)

(2) Section 5(v)

(3)  Section 12(1)a)
{4}. Section 13(ii)

87. A Centrally sponsored scheme that aims to
achieve the objectives of child protection,
happy childhood and development under the
Sustainable Development Goals (SDGs) is :

(1) = Mission Laalana

(2) Mission Bala Vihar

(3) Mission Balsamrudhi

(4) Mission Vatsalya

Which of the following was the custom

practised during the ancient period that
allows married women to cohabit with a
designated male for the sole purpose of
procreating a child if her husband was
impotent or had died ?

(1) Apastamba

(2) Sikata Nivavari

(3) Pratigya

(4) Niyoga

(30)

86.

agdse sood’ & EY rodr ol
WRO TBwE, ool | TWeNerdnad
JHRoNod  Frodr T SWoSD
Q20dS Dsso ‘$dsohe Y Hod
385500 oo 28888 HOROBO &)
S58e DS 6 STrTTED BDNBR D)
JTIV) AN, rodr D
BHOSD D VESS & dwodsd
(PTD0IDE0E ?

(1) ES 4(a)

(2) ES 5(v)

87.

3) AES 12(1Xa)
4) DES 138G1)

QPG DS ot (SDG ) §o& e

380, DOBAISHS w0 HOAW
©DIYE oFTION JHoddo ofsor
EPES) Bod (Trses HHEo ¢

(1) DAS eror |

(2) DAS 2o DS*B

3)  DAS roODENS

(4) AN T$ye8

PTSS 5008 FES HoBIBAD HSDS
Bor FE SVFaw G0 NS08 Darars
Qe H00%  dSodgen,  HoBWO

ool J3E eSS JoLWoBES

HBDES D85S0 DO
SONNBOT B0 A ?

(1) ed0

(2) DI A0

3) (D%

(4) QOIH
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89. As per Article 164(1) of the Constitution of

India, a minister in charge of tribal welfare
who may in addition be in charge of the
Scheduled Castes and backward classes is
compulsory for which of the following states ?

L Madhya Pradesh

II. Punjab
: III. Uttar Pradesh
IV. Jharkhand

V. Odisha

(1) 1,II and IV only

(2) II,1II and IV only

(8) I,IVandVonly

(4) 1L 1 and Vonly

The comment ‘Devotion cannot be subjected to

gender discrimination’ was made by the Apex

Court in its judgement in the Sabarimala Case

and permitted women of all age groups into
the Sabarimala temple. Who among the
following fniddle aged women first entered the
Sabarimala temple after the Supreme Court

judgement ?

(1) Bindu Ammini and Jyothi Nair
(2) Kanaka Durga and Aadhishree

(3) Bindu Ammini and Kanaka Durga

(4) Kanaka Durga and Aishwarj'a Melton

(31)

.89‘

@

arses orarsoliod’d edsS 164(1) 1DHs80,
nGrsS weﬁ BN IEBS
SSteB) RS0 s Sorod NBES
H08H T Ho@ 8od 2D oS

SDIN0B ?

I NGB

. dozd

M &8s 58T

Iv. Fgeleln)

V. 67

(1) 1,1 8050 IV Sredad

I, T 50805 IV &{ebsh

3) I, IV 0B85 V S

(4) I, I SHO05w V Srlesad

‘258 Ootf DNEE HOSTETrAY’ & F200he
308" do FP S5 adh)S ogrdod
©d) S0HMNO Ko SrFod 0o

SOHOSE ©HRAON0D.  N(DOT'P

%) So°5e F238:00 B0cHoS's Indéorr
| SBP0DS S5 SOD0LBS (Rew Ao ?

Do @M DB =S FroHd
538 A8 20050 eHT

(1)
(2)

3) DO N SO0 E35E &3

(4) 538 Y 00 05 RS



GS/2G/200
SECTION D
Current Affairs
91. Consider the following statements regarding

the 9 Asian Winter Games :
L The 9" Asian Winter Games 2025 are
set to be held at Beijing, China.

II. The official slogan of the 9™ Asian
Winter Games 2025 is ‘Dream of Winter,
Love Among Asia’.

III. The names of the two tiger mascots of
the 9 Asian Winter Games 2025 are
Yingying and Nini.

IV. On January 11*", 2024 the emblem
of the 9% Asian Winter Games 2025
‘Breakthrough’ was officially announced.

Which of the given above statements are

correct ?
(1} TIandIlonly
(2) I and I only

(3) IandIV only

(4) Iland IV only

92I

Which country was certified as Malaria-free
by the _World Health Organization (WHO) in
2024 7

(1) Morocco

{2) Cabo Verde

(3) United Arab Emirates

{4)  Mauritius

SR

(32)

91.

WES D
85085 8y

95 e BTN Edend Joosod
& 1808 (D¥LSOD Horedosod:

L 95 edolr Fesodn (Gen 2025

BorSR HBoRS' DS serotscdEson.

IL 93 esRosr Fersrersy §ese 2025 B,
©55°8% drdso 14 oD Jobd, &S
@S0l @O’ (Dream of Wmter,
Love Among Asia).

I 98 edasr Fersesy (§de 2025 i)
Bock BB DB DY onofsoh
INVeTo S Pe )

IV. 20550 11, 202465 95 eSO F&s*0rd)y
(8o 2025 D) 0 (25885
(Breakthrough) ©@&s*85omr
RESEoBad08.

2 2D (HILSOS” D HJID ?
(1) I08a8w I Sr{essd

(2)  II8a5w I Sredsh

3) 1805w Iv S8

(4) I8k IV Sreded

202485 (HH0S es&iig HoP ﬂV}iO)_.SSBaoﬁi-

336 (LHVEBE HEFD) 2 B¥o A0S ?
1 Doos

2 539

(3) CWTBS 9825 DB
4) &rORR
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93. Who among the following eminent|93.
personalities have been conferred with the
Padma Shri Award 2024 for their

94,

contributions and achievements in the field of
Arts ?

I Drona Bhuyan

[I. Ghulam Nabhi Dar

III. Rajaram Jain

IV. Dasari Kondappa

V. Dukhu Majhi

(1) I,II and IV only

2) 1,111 and 1V only
(3) II,IVand Vonly
(4) All of the above

According to INTERPOL, which State police
had registered one of the first cases in India of
human trafficking committed to force victims
to commit eyber fraud ?

(1) Maharashtra

(2) Uttar Pradesh

(3 Telangana )
(4) Bihar
95. Match the following List I with List II with

regard to Arjuna Awards 2023,
ListI List IT
(Name ) (Sports

Discipline)

a. Ritu Negi I. Golf

b. Sheetal Devi 1I. Kabaddi

¢. Naorem Roshibina III. Squash
Devi

d. Diksha Dagar IV. Para-Archery

e. Harinder Pal Singh V. Wushu
Sandhu

Codes :

a b c d e

(1y-" 1 v v I I1

@ I v v 111

3 I IV v II1 I

I @ 5 BV I )

& 808 B SHOS' D568 vsotios”
8 K308 SO DBATOH D5 T

20248 |DTS0 TP ?
I |18 2005°S

I Hero & ob
. T=0 20

IV. 00 o)

V.  Sogw &by

(1) I IO IV Sr(e83

T, 11T 08050 IV S ad
I, IV 508050 V S5
DI,

(2)
(3)
(4)

INTERPOL (9s5°60, b IrarodH
OHNOD DOI0S0 TANETRE FOYABS
Srds oD ST So0H00
rESEE0S I T O o@ Fdven
SR TA ?

(1) ST

2) GBS \100%
 ® Soors )
@) D06
95. oS ®ordy 20238 SowodHod Sod
e I rde IS HOFO 00
ardel ardee 11
(D) (85w (5% e)
a. 8% 30 L #S5)
b. 385 B I %28
c. FOSHENDT D OL Iy
d. &z oiid IV. Jror-e8)8
e. 3608 IS oh V. &»
QO
Sdrpraren
a b c d e
 Im IV v I 1I
(2 1 v v I I
® I AY v ¢
S TS O
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96.

Which among the following is the initiative by
the Government of Karnataka in collaboration
with the All India Game Developers Forum
(AIGDF) with special emphasis on gaming and
social media ? -

(1) __Digital Detox ]

917.

(2) Digital One Stop
(3) Digital Smart
(4) Digital Bengaluru One

What is the theme of ‘International Day of
Education 2024’ ?

(1) Learning for people, planet, prospenty

and peace

(2) To invest in people, prioritize education

| (3)  Learning for lasting peace ) |
(4) Education : A key driver for inclusion
and empowerment
98, Consider the following statements :
| India’s  first National Highway
steel slag road section is on NH-66
Mumbai-Goa National Highway.
I.  Steel slag technology was developed
by the Indian Green Building Council
(IGBC) and Central Road Research
Institute (CRRI). '
III. JSW Steel, under the IGBC-CRRI
technological guidance, has constructed
a 1 km long four lane steel slag road
section on NH-66 Mumbai-Goa National
Highway.
Which of the above given statements is/are
correct ?
| (1) Ionly )
(2) II only
(3) TandII only

(4) IIand III only

(34)

(2]

96. Mol SO  FIS  DHAATD
DB5E TSI e5-x08a8r A
BI0HB) 6 (AIGDF) SIrsdos
Soes (HEheédso & 180 o8S 6
@500 ?

(1) Q28O G¢rS) |
2 &30S ST

3) &80 8

4 &2 BoHErdd S

97. ‘©OSTHOH Ty OSSIS0 2024 By
VDGO (theme) AES 7

(1) B8Y0f D6 HHS, IS, 1908
©08 HH :
O BIIR VS NS, 1Dosroeds
QEBAS

S6300 16 QoD Do
ATAS : D § (BIE HB 208"AS
®08 J0DIV0E

(2)

(3)
4)

98. &3 (808 [HELSO DOKBOIOA :

L 6884 e Fass 73 &S
Wh O6 NH-66 S0oB-Far 2re0d
S8 A8050808.

I QS FF B5yesd 208095 BS
HOoH S“R)gé (IGBC) 8asn oled
g8 6> 2[V)LEES  (CRRI)
@DSYE 5‘%‘@0

IGBC-CRRI r0o$8% ::chsdgéé_soes‘
JSW S, NH-66 S003-Far 2reoh
S0 1 8. Trenth B8 VS Ih
P & Q80008.

DS DS (DELIOS’ DE/DD HBSD ?
IOEEESERY B

2) IISPS$D

(3) I8 II S7(¢83D

(4) 110805 IIT Sriedsh

III.
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99.

‘The Husavik Exploration Museum’ seen in
the news recently, belongs to which country ?
(1) Poland :

(2) Bulgaria

(3) Saint Lucia

(4) Iceland - ]'

100.

Consider the following statements about
MILAN 2024 : : '

I.  MILAN 2024 is the 12% edition of
Multilateral Naval Exercise being held
from 19 to 27'h February, 2024 under
the aegis of Southern Naval Command.

II. The Harbour phase of MILAN 2024 is

from 19 to 25% February, 2024 and is
aimed towards building upon the
experience of multilateral forces
operating together at sea.

The Sea phase of MILAN 2024 is being
conducted from 2274 to 27'P February,
2024 and provides a platform for
participating navies to discuss maritime
subjects of common interest and share
solutions. -

IIL

Which among the above given statements are
correct ? '

(1) IandIIonly
(2) IandIIonly
(3) I, IandIl

- (4)

None of the above )

101.

Which country has officially declared the
‘Snow Leopard’ as its national symbol,
underscoring its commitment to conservation
and ecological balance ?

(1) Kazakhstan
(2)

Mozambique

(3) Eyrgyzstan

(@) Democratic Repuplic of the Congo

(35)

(]

2850 TGS LDDNS) D JoAVE A8y

FBAS SrsBahHo’ & TP ToAIS ?
(1) &ferod

2 2GO0ST

(3) OV RO

4 __2Fos ]

100,

MILAN 2024 h00D (808 (DL
HOKBooB :

I MILAN 2024 @38 &80 Jso¢
508 @d36508° 2024 DRSO 19
K08 27 55 DEErOIHHSS) D
oSS BIE D8 (Multilateral
Naval Exercise) G308} 128 A2

MILAN 2024 3308y 60 &4 2024
D250 19 HOG 25 S5 GOLNOD
SO  dSBeST  EOD ATV
2308 8 e LT O
HOTHERB0 ©F 0T DEPF0A.

MILAN 2024 O30%, S &F
2024 DB 22 Hodh 27 SO
DSOS DEEA00 HOH edE &)
JDAWES  dAcTren B8 od@8
O  HOXRTOD  HOWEIETRS
FOT FssToi 850D ©0BR0L.

25 20NN (DEOIOS” DD HJID ?
(1) 1380 II S

@) 1130005 I S

(3) 1,1 080% I

IL

IIL

@) NI ST

101.

HB5E e HBO HTYSEH DSOS HE

DD TETawdr ‘Dot DS &

S5 2ROH AFYom O Bio edsdsor
(DEBoDOS ?

1) 828~

(2) RVzrod)s

(3 882IFS

@ Bt 000t o5 S Toft
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102. The Global Biofuel Alliance (GBA) was|102. f28 &> J0HS  ©@eoHN) (GBA)
launched on oth  September, 2023 during 9 JRODB, 20238 G20 HWS Hods)orr
the G20 _Sun:zmif. Which among the following : o 0DoS2A0S, @>'O A G20 Shesss 5?5_-".&85‘
non~Q20 countries are supporting the Global 5oy ﬁ‘?& S 5EP SicHS b (GBA)S
Biofuel Alliance (GBA) ? < ;
NPEB) RVT*) QN ?
L Paraguay i L SO g
III. Guyana L doSra
Seychelles V. 5:0'?.1(’5,}
V. Chile V. 96
Finland VL. 25086
(1) ILILILIVandV DL ILIL IV&Bao V. .
(2 ILIILIV,Vand VI (2) I III, IV, V 805 VI
; (3) LIII IV, V. 0805 VI
(3) L IULIV,Vand VI
4) LILIII, IV 805w VI
(4) L IIII,IVand VI = .

103. The Govemnient of Gujarat is set to launch 1-03' AR Lo)?éso i):)a Sl
the country’s first Submarine tourism in YIS RBIBS &170230¢h
collaboration with : [B°80D0t5008 :

4, 5.
(1)  Huntington Ingalls Industries @) &osofS gomrS) od|d
2 By 2D DYof oA BS
2 . .ld - [t
(2) Dae?von : Shipbuilding and Marine 202500R & ONTBE
Engineering Co. Ltd : '
' (3) DS @S ADDPE) OWBS
(3) Mazagon Dock Shipbuilders Limited
ez 4) 2355 BIMS) 5°8)02S
(4)  General Dynamics Corporation : : .
; : 104, 258 TobS oY HB  IRS
104. A German-based company, Pepper Motion is

set to invest ¥ 4,640 crores in its EV Bus and
Truck manufacturing unit in 800 acres at :

(1)
2)
3

Badvel, YSR Kadapa
Somandepalle Mandal, Anantapur

Atchutapuram, Visakhapatnam

(4) Punganur, Chittoor

i)

&8 (EV) 25000 005 (09800 S0

ArASE  HooHod D rosos 800
8o T 4,640 FeN DEPA R0 :

(1) 838, BI0esb 88 :

@) &F2oBHD 5060, ©I30SHE0
B0, :)Ta)é'e;;_d '

4) HOHSITL, VEFS
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105.

In which state was the law guaranteeing 75%
reservation for their local residents in the
private sector struck down by the High Court
stating the law is unconstitutional ?

(1) Karnataka

(2) Haryana

lm’

(3) Jharkhand

(4) Andhra Pradesh

Consider the following statements :

I.  The Global River Cities Alliance (GRCA)
led by National Mission for Clean Ganga
under the Ministry of Jal Shakti was
launched at COP28 in New Delhi.

II.  The Global River Cities Alliance (GRCA)
is a unique alliance covering 275+ global

river cities in 11 countries.

III. The Global River Cities Alliance (GRCA)

is the first of its kind in the world.

Which of the above given statements is/are

correct ?

(1) TIandIlonly

(2) TIonly

(3) Iand Il only

(4) I and I1I only

{37)

[a]
105. |3 SolfoS’ a8 TS drNeHOR 75%
B2BMAS TIT) ) D oo
EE oo AP oL
£E3I00H ?
1) Sgrex
(2 o
@) 208
4) oNTT

106.

& 1808 |05OLSO HOKdoIO :

L 20 3§ Hod8ss 7y edssoos &S
for TASS IS TS0’
o 056 DD ©e0HS) (GRCA)
COP28 J&D) &S0t  &rsdds
rSodosaB08.

I 28 8586 28D eoohS) (GRCA)
©3O 11 Brod 275+ (HI0S SO
ARETOD  (global

ENJHTINTH 2.8 HBEDS Eréod.

river cities)

I 628 856 28D ©0dhS) (GRCA)

(@050’ SoORNSEE.

DS DS (HEOIOS’ DO/ IBSD ?

1 508050 IT Ar{edad
1 Sovebad

(1)
(2)

3) 1805w I Srehsdh

@ 1 o0 1T e
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107. Which among the following is incorrectly|107. & ($o& &S 6 SHr =6
TohaBod ?

(1) 28358) BED : ad 28 HOW
TAPEFTENOHN D[S B3SO
o0 00N IoNVE T 10,000 s

paired ?

(1) Jagananna Chedodu : It provides a
financial assistance of ¥ 10,000 per
annum to Rajakas and Nayee Brahmins

for better livelihood. R
2 2088) S : DB DS, I8
(2) Jagananna Thodu : It' facilitates a 00 DY TEREHOS &BQ§
working capital loan up to ¥ 10,000 to 550550 ED Yoo D aTi08 26
the eligible poor, small and petty T 10,000 S8 DEPHS SI*H0 8o
vendors with an intention to make them KETENSD OB, :
Sangislly ndepesdeut. @) 2SSy B3 [Tod Do : BC, SC
(3) Jagananna Jeeva Kranthi Scheme : It DAL ST STOK TOHS DarFerdy
aims to empower and provide social| 33“5959_3 OO ArSrBE PEEI)
stability to women belonging to BC, SC| ©OHOWHB0 B ©F 0. & HEEO 80l
and ST categories. The beneficiaries will oPodhesH FMBen HOA HIen
receive sheep and goat units under this SBrO&) @odErow.

f(4) SdRed SSBaho NP0 : S ‘
r : ; _ - Sotfoes’ GE3 BOITTON
(4) YSR Navodayam Scheme : It aims to

DYNOIBO  r50° - solBINTT

provide self-employment opportunities TSSE SIOHO ANE SIPFOD

to the youth of Andhra Pradesh by L £9305¢50 B ©L0. J
creating job opportunities in the
L transport sector. : 108, ROF-2S eAs)5 BF 8o ‘O
VOO0 ®D AHNVSIF) b IBBawS)
108. The Centre of Excellence for Vegetables and ®08 VIRV’ D % oD Tored
Spices under the Indo-Israel Agriculture SB>BOSHA0S :

Project was proposed to be set up in :
: ' (1) &S)Hods 2"
(1) Annamayya District

g SR @)  eerd beowos B
(2) Alluri Sitharamaraju District

(@)  Herych 2er

(3) Palnadu District

(4)  Guntur District 4) hotwrd 3¢
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109. Consider the following statements :

L

IL

(39) [A]

Vijayawada Railway Station was
awarded the ‘Green Railway Station’
certification with the highest rating of
Platinum by Leadership in Energy and
Environmental Design (LEED), USA.

Vijayawada Railway Station is the first
in the South-Central Railway (SCR)
Zone to have bagged the Platinum ring.

Which among the above given statements

is/are correct ?

v 109 &8 1808 |HELSS HBHSoSod :

L  duchard B85 ISE OAbAD as
A58 ©08& IoSDoLyS ABRS
(LEED), USA oS0 @08 JéSo
B30 AS BB VAT HPBEAS
eDoDod.

I &8-50¢s B8s (SCR) &'SS' 30
B0RS AeNTHHS) NG BB RIS
DBODCS.

28 AN (DELSES’ B/ DB ?

(1) Ionly (1) 13575
(2) Ilonly (2) 1 S
(3) IandIl (3) IO II
(4) None of the above @) DDID Y

110.

Which among the following countries got
membership into BRICS bloc with effect from
1% January, 2024 ?

I

1L

IIL

(1)
2)
3)

Egypt
Argentina
Indonesia
Ethiopia
Saudi Arabia
I II and III
ILIIand V
LIlandV

(4)

LLIVand V

110. 2558 1, 2024 Sod DSy 2§ (BRICS
.bloc) & (800 Brod D P
JoToN ?
L  &239
. efosy
. RWEIACL"
IV. 220~
V. b eddasr

1) I, II %805 III
@ I, I 0080 V
@) 110 000 V

4) LIVOOa»V
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(40)

111. Identify the incorrect statement regarding
‘PM Vishwakarma Yojana’ Scheme :

I

1L

(1)
(2)

The Government of India launched the
‘PM Vishwakarma Yojana’ Scheme to
provide end-to-end support to fishermen
with non-mechanized boats.

‘PM Vishwakarma Yojana’ Scheme
provides collateral free enterprise
development loan up to ¥ 6 lakhs in two
tranches.

I only
II only

(3)

Both I and IT

112,

(4)

None of the above

Consider the following statements :

I

II.

III.

Dr. Tallavajhala - Patanjali Sastri
was conferred with Sahitya Akademi
Award 2023 in Telugu Language for his
poetry and poetry collections.

D.K. Chaduvula Babu was conferred
with the Sahitya Akademi Bal Sahitya
Puraskar 2023 in Telugu Language for
his short stories ‘Vajrala Vaana’.

Johny Takkedasila was conferred with
the Sahitya Akademi Yuva Puraskar
2023 in Telugu Language for his book
‘Devara Kotishu’.

Which of the above given statements are

incorrect ?

(1)
(2)

I and I only
II and III only

3

I and III only

(4)

All of the above

111. 9o DEgES; Brass

[A]
D58 HowodHod

A5 DS 1800 :

L

II.

&

(2)

TO-DETE Sy  IO8 ad)
&85O JPO FON  dISG0
®0BOBEAE a8 (HEDS0 ‘DO

3 3582 ey’ DESR),
80D oD0s.
Do DIEG Tras doso orgo

ODTHOH Bods eSS T 6 ofe
SO%H EEY BHowE oG D
BIOV0E SeTrensd @odNob.,

I Sr(ebad
IT 5753

(3)

I N8 11 Bocke

112.

(4)

200 559

&5 1808 (HELIOD HOHBOB0A ;

L

II.

II1.

@ ST J$0zd) T S
5J850 OO  EDE . QoSS
deriosS  Bentd RS Joreds
BB T 20238 Heby 8o,

A.3. BNYO 220 & O SPHen
‘Bere oS § St RS dress
OGN O areds og)éab'zrdo 2023
& 5880,

R SHSION S5 TG TN
IRV Beth 212’ Areyeds 957N
A0S B B0 202368 Heby BoT .

S B8NS (HELIOS’ DD B85V 7

(1)
(2)

I HOAW 1T S(edadd
11 0805 111 Sr(edaH

(3)

T 005 11 S S0

(4)

DI
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118. & (1808 o888 &) 2 DidSOD

8ot ok :

. 113. Identify the incorrect statements among the

following :

L

II.

I11.

(1)
(2)

Man Singh is the second Indian to win a
gold medal at the Asian Marathon
Championships.

Hardik Singh was named as Men’s FIH
Player of the Year at the International
Hockey Federation Hockey Star Awards
2023.

Indian women’s hockey captain Sushila
Chanu won the FIH ‘Best Goalkeeper of
the Year Award’ at the International
Hockey Federation Hockey Star Awards
2023.

Shubman Gill has béen selected as
‘Emerging Player of the Year at
International Cricket Council (ICC)
Awards 2023.

I and IIT only

II and IIT only

3)

III and IV only

114.

(4)

I and IV only

In which part of Andhra Pradesh is India’s
first largest private gold mine located ?

(1)

(2)

Krishnagiri Mandal of Kurnool District

Aspari Mandal of Kurnool District

(3

Tuggali Mandal of Kurnool District

(4)

Rudravaram Mandal of Kurnool District

3

I

1)

(2)

SR NOA BROST STEFR TODOD®
ADS' 20T DHE0 FOODS BOLhS
2SS OSNE.

R00VYANS 8 DABAS DTS
58 F6 o) 20238 50§ ol
DHDO o Do e &
QOO DODEAST§CD.

8 Sarer T8 TS e T
QOOBYASS I8 DEBAS (DTrS)
58 F6 ) 20238 BY AS 856
&P & 005’ ®ITYP D FenthHFod.

wosgeod (888 )5  (CC)
aden 20238° HFHS AS ‘DHQof
NOHE & O ARG’ JODEATI.

1 805 I S

IT 0805w III &S|

(3)

III SHB8A5W IV S7(eb 3D

114.

(4)

I 58050 IV Sreah

TESBIOS D DLV @D IS
20 1 SoPINBISR 2 (Frososs
GO0 ? |

(D
(2)

B8y en 2 §xh0 H0%e0
S8 en B e300 otk

3

SETe0 B SN HOBOHO

(4)

6y e 2 HIHSE0 D00
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115. Consider the following statements about the
Indira Gandhi Prize for Peace, Disarmament
and Development for 2023 :

L Daniel Barenboim was announced as
winner of the Indira Gandhi Prize 2023
for his efforts to solve economic crisis and
his contribution in the development of
Sri Lanka.

Ali Abu Awwad was announced as winner

of the Indira Gandhi Prize 2023 for his

efforts towards a non-violent resolution of
the Israel-Palestine conflict.

The International Jury of the Indira
Gandhi Prize for Peace, Disarmament
and Development for 2023 was chaired by
former Chief Justice of India,
R.M. Lodha. -
Which among the above given statements are
incorrect?

(1) IandIIonly

(2) II and III only

(3) Iand Il only

(4} None of the above

II.

1L

)

116. Which among the following rare natural
phenomenon is going to happen in 2024, after
221 years, in the United States of America ?
(1)  Fire Tornadoes
(2) Glow Worm Caves
(3) New York’s Ice Volcano
(4) Double Cicada Explosion

117. Which among the following are incorrectly
paired with regard to Swachh Su.rvekshan
Awards 2023 ?

I. Best SafaiMitra Suraksha Sheher

Prayagraj

Cleanest Ganga Town rank 2 : Varanasi

Cleanest Cantonment Board : Mhow

Cantonment Board ;

All India Cleanest City rank 3 : Navi

Mumbai

)

I and II only
II and III only
- III and IV only

IL.
IIT.

Iv.

| 1)
(2)

3)

(42)

(4) TandIVonly

115. 308, JoAHESE HOAD 9SG Fdo
A TS 68 =T =odor mod
25V 2023 HB0D 1808 [DELION
20feSos0bk
I BIHS oSS onSHd oo Ty

0% H08rR) HBHLB0BERE HBAN

:‘S,e)oé @DBSHOS’ BOHS TRY Sgn8

T ROAT® oS 2355006 2023 DBesrr

(DEe3oer.

JTS-TOVT ITFTVE  ero

HBAB0 §00 TS s mir @d

@2 BB ROAT® ToH TV

2023 DBST HES0T.

F08, VT SVHESE HOG @DSHH

§'00 £y TS 08 ad) ROHO" mod

20508 2023 ©0STAAD 257588 ot

Srd (DS Fsohsrd ebdo. S

€96558.¢5 Sar0cido 28808,

DS DS (DSOS’ D S ?

1) 15005 I Sreh

(2) II0805W III Sr(edad

RS ns s—
4) DI 5

116. &8S°S’ 221 HoSS e Sorsed 202435
Qo3850 & (08 FBS D ©HBS
DTz Byf 52090 BBES' S0 ?

(1) BSEED
@ & o6; $5) (Glow Worm Caves)

(3) Xors0ird) BBE) H0rd e9f) DS se80
(o Gl dsa D8 aas j
117, QW) @°Q) 2023 S QOVORHO) Se
1808 78S’ D SH 2 TAHRAID ?
L &8 JPooded OE8SE HHROo
DASrhRoes
1. §39 torr H&e0 o750 2 TR
ML H8HESDS o' 08 G 3:‘5
$0&5°[20¢5 5
IV. 85 20805 §39 2¢§ oo508 3 1 5D
oAN023
1 SH805W 1T Sr(sa |
11 S8 aw I Soed o
HI 8050 IV &Sv(ebah
1 8% IV S5°(e83D

1L

I1I,

)
@
3
(4)
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118.

Consider the following statements with regard
to India Skills Report 2024 : '

I Maharashtra, Uttar Pradesh and Kerala
are the top three states with the highest
availability of talent with computer
skills.

Karnataka is the most preferred state
to work for both male and female
employable talent.

IIL.

III. Telangana has the highest concentration
of employable talent in the age group of

18 to 21 years.

Andhra Pradesh is one among the states
with the largest concentration of highly
employable resources.

Iv.

Which of the above given statements are
correct ?

(1) 1, T and IV only
(2) II, III and IV only

(3) 1,11l and IV only ]

119.

(4)  All of the above

Pick out the odd pairs with regard to newly
elected Presidents of that respective country :
Fernando Pérez Molina : Guatemala

II.  Abdel Fattah El-Sisi : Egypt

I1L
of the Congo

IV. Sierra Leone : Liberia
(1)
(2)

(3)

I and II only
II and III only
I and III only

(4) IandIVonly ) |

120.

Which is the first South Asian Nation to

formally register same sex marriage ?

(1) India

(2) Nepal

(3) Maldives
{4) Bhutan

Felix Tshisekedi : Democratic Republic |

(43)

118,

& 1808 o8 zodosr p5) 6%
2024 5 NODOHONDD (2FIOD
28800 :

I. Zodyseb RIXORICE A

(DB2rS0ee) e9esBE0M @othertns
&S) DS Srd oErS’ HVoLR,
GSEDTT O B8 G Q.

S HOA (A GIH T[rEIS
1DArSohe DA ToHEDE @50
[RIT TR0 EF°EE.

Boornd 18 HoD 21 ¥ DS
SOH®Y  GS)  aIE  TrHIDHS
De3rS0ehe) s sHSomr o) O.
@esHY GO oL IR AN
DBrISHosH ¥O8 &) oErd
S0(PIHTF 2.888.

2565 DS, DELIOS DD HBID ?

(1) I, I 0050 IV Jredad

@) I, I 005 IV S eh

III,

[(3) 1,100 IV @ )
LU RS
119. & (1808 &8 T 05288 o T

eHIHAS J020H00 JSOSV  BSOD
Do :

I 2008 0F IO : riRsre

I, o©BS HEF ISV : &2

I OE) DTS : BIwEESS 6508 &
seoff

Lo OTBrS : SHBASF

T 00080 I 3553

IT SH80%0 I Sre(edad

I SO IIT A3 esdh

Iv.
(6]
(2)
(3)

)

1 500 IV SreSad )

120.

3500l DTH) ©HTBEOT STt TS
S0Es S8 705 B0 O 7
(1) 2rde883%0

2) oo )

@) Srdyen
4) LrersS
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SECTION E
Mental Ability

121. Study the fé:llowing arrangement carefully :
DE*9E$P#6+U0$H1A2D&#AS2QA3DSIALM#
What should be in the place of question
mark (?) in the following sequence based on
the above arrangement ?

DE* 9$P 60$ A#A ?

(1) A9A

(2) AAL

3 AS9

(4) ALA

122, Rajesh codes the alphabets as numbers such
as a=1, b=2, ¢=3 and so on. Then what is the
value that Rajesh gets by adding all the
letters (according to the code given to that

letter) in the word

‘pneljxmqnm‘xltramicro\seopicsilicovolcanocon.iusis’ ?
oL A % Ny oy

TN e

(1) 524

(2) 536

(3) 548

(4) 560

(44 )

PESE
068 20O

1121, & (808 TN ST eddsohso

Tohod :
DE*9E$P#6+U0$H1A2D&#AS2QASDSIALM#

D 0 esgrdorr 1800 (008D (D7) 88
8 () TS0’ D Gomd ?

DE* O9$P 60$ A#A ?

(1) A9A

(2) AAL

(3) AS9

(4) ALA

o2 SGrOSR ©5oe a=1, b=2, c=3
- 0SB Dopgenrr & T, @)

122,

‘pneumonocultramicroscopicsilicovoleanoconiosis’

OF HS0SV ©) wived SBosEo
(8 ©5T8 2NN §8 (15°80) oo oo B
OB DeNsd D0ed?

(1) 524
(2)

@

(4)
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Directions for question nos. 123 to 125

Study the given information and answer the
following questions :

YSR Kadapa team has to play cricket matches with
Visakhapatnam team as a part of ‘Aadudam
Andhra’ organized by the Government of Andhra
Pradesh. The number of players in each team must
be 5 only. Both the teams have to choose 5 players
from the eight players given below. The information
about the eight players, their role in the team and

the money to be paid for playing one match is as

(45)

199¥) Sop g 123 SHod 125 SEX Srdeden

D) DLrTroR) @fsabso T HéaA &
(808 (53) 3D DI GTRI0 Ra3,503

SOPHNTT  1DWS50  AB5erRS)  ‘@dro
@o|Y'S’ ariom Banesd ¥ 2P JTPHE)0
BEDS (838 SrySen amd) God. (D 2EPS'
SOMTE Jops SHINIOM™ 5 Srdsd Gomd.
808 RB5DAS QAN 08 sbTrES’ Bock
26 5 0O SLTED JohErd. & 180b
HBES’ DOMWE 0D wereh, 2P’ O e
SBA5D 28 drsS 8B0% TOowrd)S Ban)
80D Sdrardo &od.

follows :
Player Role Money to be
paid per Match
A Batsman Z 5,000
B Batsman ¥ 5,500
C Batsman/Part time ¥ 6,600
Wicketkeeper

D Specialist Wicketkeeper ¥ 5,500
E Bowler (Spin) ¥ 5,000
F Bowler (Fast) ¥ 6,000
G Bowler (Spin) ¥ 5,500
H Bowler (Fast) T 5,500

Conditions :

1. Band C cannot be selected together.
Wicketkeeper is a must in the team.

'E and G cannot be selected together.

A A

Among E, F, G and H, only two persons are to be
selected.

If A is selected, H must be selected.

@

6. There must be at least two batsmen and two
bowlers in the team.

7. C is considered as both a batsman and a

wicketkeeper.

2.8 37
SETED s &350
T0i3E )
a2v)
A 2565 150 S Z 5,000
B 23785 )5S ¥ 5,500
C 2585 )5S/ Q < 6,500
B DBSEHS
D 2O D8¢5856 ¥ 5,500
E 2300 (0)S) ¥ 5,000
K T0b (D) ¥ 6,000
G 508 (:)J(S} ¥ 5,500
H OB (:1-",9) Z 5,500
adeen :
1. B B0 C o 0D J0dE Bohso
QL0 SN,

2. 26 DBSEHBSDIN0M GoTd.
E 005 G o 0D 0¥ Tohko
D30 5°EN.

4 E, F, G 00 HoS addH Sidden
Sr|3D DO Tohwde .

5. A J0DE FoHAS, H D $5)08M 0D
BT,

6. 2SS’ D00 AL b IdrS SO
2% T od gowmd.

7. € erge5)srs 0050 I8EEHbm
HOHBoTD.



GS/2G/200

123. YSR Kadapa team decides to compose the

team with one fast bowler and one spinner
and has a budget of only ¥ 26,500 to form a
team. Then who among the following is notf a
member of that team satisfying all the

conditions ?
(1) A
(2)

(3)

E
H
4 G

124.

125.

If it is known that the stadium is favourable to
spin bowling and YSR Kadapa team decided to
select C and G compulsorily in the team, then
what is the total amount spent by the team on

selected players satisfying all the conditions ?
(1) ¥ 27,000

(2) 27,500

(3) ¥ 28,000

(4) < 28,500

If it is known that the stadium is favourable to
fast bowling and YSR Kadapa team decided to
compose the team with two fast bowlers, then
what would be the least amount that can be
spent to form a team satisfying all the
conditions ? g

(1) ¥ 26,600

(2) T 27,000

(3) ¥ 27,500

(4) T 28,000

(46 )

(2]

123. BV ¥8H 2¢Y 2.8 Y T8 HBA®

28 VINNBS 23PH oyt ToSred
QAPONOTHHOS HOKH 2P DTN
DADEFVE EI00 T 26,500 2GS SreSH

-Tela} ) ) &) ASHOD
DOSINNODS Tche> & 1§08 78S’ S
& 290B06° D5 S°ehH ?

(1 A

(2). E

@3 H

4 G

125.

D)8 T O0RK VAOHO DEFOH BOD
SNeE 85 85 ¢ HNé® G D
SJH0E JODE TATFOD AFooROS,
OB ©J) JAbHOSD 00D oD
TS SLOTEH 2E ) TS Iwdo
20eb ? :

(1) ¥ 27,000
(2) ¥27,500
(3) ¥ 28,000

< 28,500

(4)

RAEAN0 PP "OOAH ©RETOOT GOS
B8Od BINeE 635 2ty D T
S8 2PSH  doytwy Iared
AGanoN0H, @YY ©J) JNSHOD
DOSINHOD 2P Doyw  FoHEDs

D) TODHE 50y IS0 0 ?
(1) ¥ 26,500
(2) ¥ 27,000
(8) ¥27,500
(4) T 28,000
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126. Read the following instructions :

A$D means ‘A is to the North of D’

A&D means ‘A is to the East of D’

A*D means ‘D is to the West of A’

A%D means D is to the South of A’

A@DR means ‘A stands exactly in the middle
of the horizontal line of DR’

A!DR means ‘A stands exactly in the middle of
the vertical line of DR’

It should be noted that ‘A6m$D’ means ‘A is 6
meters to the north of D’ and so on.

Find the shortest distance between S and T in

the following expression :

‘B12m$S5m*R3m&J6m %K JT
O R

2 1023m

@ 2V13 m

@ 313 m

127. Ramana was born on 290
February, 2016 which happened to
be a Monday. If he lives
till 2099, how many birthdays
would he celebrate on a Monday ?

(1 2

(2} 7
3 4
@ 3

Question Deleted

(47)

126. & 8008 ArS8e BS80S
ASD ®0%) ‘A T D8 &S0°S &0’
A&D @0 ‘A T D § 5505 o0&
A*D @0 ‘D @T A § H)STS &od
A%D ®0® ‘D T A § XE 7S G0y

A@DR @0® ‘A pD)Sor DR 3w
DIr0esS By 065585’ S0enod’

A'DR @0 ‘A D)0 DR By Jend
B 055’ soenody

‘A6mSD’ @0 ‘A ©TO D& &SSor 6
WOD &rdo & dod ®@d edo
BT E).

& 8006 $388800¢5° S SO0 T Hchs e
5035 SroR) $DFS0H :

‘B12m$S5m*R3m&J6m % K!JT

(1 4413
2 10235
® 2413 &
@ 3y13 &
127. Seoed DRSO 29, 20168 80T, &6

B0, @S 2099 I35 2o

G600, wddH Flaodo F»r I

B Eeren 23HHE0ErS ?
v 2

@ 7

@ 4

4 3

Question Deleted
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128,

(48)

The speeds of Rohit and Lalith are 30 km/h|128. &8 S8ckn 08 3fo Ho&d 30 85

and 40 km/h. Initially, Lalith is at place X and
Rohit is at place Y. The distance between X
and Y is 650 kms. Rohit started his journey
3 hours earlier than Lalith to meet him. If
they both meet each other at a place Z
somewhere between X and Y and the distance
between Y and Z is P, then what is the value
of P+27?

(1) 330
(2 125
(3 220

(4 165 ]

129.

If in a certain code language ‘CONSERVE’ is
written as ‘BDNPMORTDFQSUWDF, then
how will ‘NUMEROUS' be written in that
code ?

(1)  MOTVLNEFQSNPTVRT

(2)  MOTVLNFFQSOPTVRT

@ MOTVLKDFQSNPTVRT

(3) MOTVLNDFQSNPTVRT

130.

R and 8 are friends. R lives in USA and S I}
in India. One day R asked S that f the ti
now in USA is T hours, then what is the tim
now in India’ and S replied that ‘India is
hours 30 minutes ahead of USA’. Then wha
time will it be 18 hours from now in India, if i
the USA itis 4:15 AM ? ;

(1) 1:45 in the afterncon
(2)  7:45 in the evening
(3)  1:45 the next morning

{4)  7:45 the next morning
Question Deleted

SBAW 40 8o DHortoBoS S X
TS0’ H8%» ForS v TS0 sy %. X
DO Y Dy &rdo 650 8.8, 2,885
oS8 0SS 0B 3 Kodre SwokrS
B8 &8 D) Hordodoord. X
DHOA® Y s @) Z Yoo’ FBdEr
28035 %o Y SHdckn Z 0¢88
&80 P &900@, 53350 P + 2 Dend o ?
(1 330

(2 125
(3 220
[ @ 165 ]
129. 2.5 AQa &8 208 ‘CONSERVED

‘BDNPMORTDFQSUWDF  © Sowrd,
o &8 23S NUMEROUS
ST HRHSH0D ?

(1) MOTVLNEFQSNPTVRT

(2)  MOTVLNFFQSOPTVRT

(3 MOTVLNDFQSNPTVRT )

aer

O 8 APH V)orsden. R USA
DO 8 B8BTS AIBWI .
2882 R 8 ‘USAS® a3 B0 T Koeven
D8 ROAKTS’ B WO o e
edlr, iS850 USA ¥0® 9 Xode 30
QT SO B S PDIroo
AT, USAS” &5eS090 4:15 e900@, 2% 3¢3
QDOB 18 Hote SHTS rdSSEos
QDADO oeh ?

(D Sgrgdryo 1:45

(2) Jaholedo 7:45

(3 DB &S0Ho 1:45
(4) DBHE &SoHOo 7:45
Question Deleted
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131,

(49)

In the month of January, the students of|131. 2558 JereS BSSs or8a HDE S

Chaitanya Bharathi Public School visited
M/s Swaminathan Farm, where they saw
rabbits and pigeons. One student started
counting. If the heads are counted, there are
340 heads and if legs are counted there are
1060 legs. He also observed that 3 pigeons (out
of the total pigeons present there) were dead.
Then how many live pigeons are there on that

farm?
(%) - ATT
(2) 167

(3) 187

(4) 147

132.

133‘

The sum of the present ages of Ramu and his
son Jagadeesh is 60 yé&rs. Six years ago,
Ramu’s age was five times the age of
Jagadeesh. After 6 years, Jagadeesh’s age will
be :

(1) 12 years

(2) 14 years

(3) 16 years

(4) 20 years

If 2X4X6X8X10X12X14X16X18=18579XYZ0,
what is the value of X + Y + Z ?

(1 12
(2) 13
(3) 14

(4) 15

132.

133.

3

ATIPHeD Ms DTS O D
DOBBIOTTH, @¥S T8 Fo0T3eh) HBA

 DITOD AP, 28 T ey

50080y HOAM JYorer Seren, €0

B8,085¢%0 [FrSodotrcd doen BE R 340

Seoew, 5°0 B DAS 1060 5L &) 0HD
HOTrh. @D 3 FrIoren (8 &)
wgo  TYoY)  SANAraHd v
00T, @YD & FEHS* V) DS
TN Gy QN ?

(1 177

(2) 167

157

(4) 147

T3 B0 @& Hdrdeh =865
(DR SaHYD  BSo 60 HOSS oD,
8% (880 T SoHin 2HAD SoHI
S0 D% BED 8055, 6 HDOSS YT S0 geh
2EOD S0HN) D0 00D :

(1)
(2)

(3

12 D0Sed yoren
14 S05e8 Yoren

16 S0Se8 07en

4) 20 SoNS oD

(1)

2X4X6X8X10X12X14X 16X 18:18579XYZ0
OB X + Y + Z Dendd ok ?

12

@)
3)

13
14

(4) 15
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Directions for question nos. 134 and 135:

Study the given information and answer the
following questwns

On the occasion of unvexlmg of Statue of Social
Justice, the Government of Andhra Pradesh had set
_up exhibition and stalls at PWD grounds,
Vijayawada. Raghu went to the exhibition to visit
8 stalls, Stall-1, Stall-2, Stall-3, Stall-4, Stall-5,
Stall-6, Stall-7, Stall-8, but not necessarily in the
same order. He started from Stall-1 and walked
towards Stall-3 which is at distance of 24 m towards
East. He then turned left and walked 16 m to reach

Stall-5. Then he walked 57 m Southwest to visit

Stall-2, which is towards the South of Stall-1,
crossing the path which goes through the midpoint
of the line joining Stall-1 and Stall-3. After visiting
Stall-2, he walked 40 m in the East direction and
reached Stall-7. He then walked 50 m left to reach
Stall-8 and then 16 m right to reach Stall-4 and to
reach the last stall, he walked 35 m towards the

right.

134. What is the shortest distance between Stall-3
and Stall-6 ?

(1) 6J87 m
(2)  4V89 m
3)
4

4VTT m

8424 m
What is the direction of Stzﬂl-l with respect to

Stall-2 and the shortest distance between
them ?

135.

(1) North-East, 7V10 m
(2)
(3)

(4)

North-West, 7710 m _
North, 35 m
North, 39 m

g

(50)

11 D%y Dops 134 HOBM 1358 |1HF0%H

Dreiaden :

& (8085 DS DIreTow) egsahdo Do
DAY (59) 2D DaITT RO RS0

Far; e FAS 2000 edNR000S
HOBBIOT SOIBINBT DEDS50 IBADTEE'D
55208 (T08)S MOAS oo FSyd
DTN TR0, BHw 8 TS HoBG0BEVE
MDASH ITcw- -1, F¥S-2, ¥S-3, ¥S-4,
TS5 TE6, IS TS58, v o8 (EHoS

15068058, ©3H FS-1 Lod Erdodod

S75) B 24 Hexd &rdos &) FS-3 BY
SATW. ©HA HoA BB BOA 1620
SAD TS-58 Thdomr . ©H8 H0d ©édH
FS-1 2B FS-3D 0D B DS &)
STy o8, FS-18 Siwor &l FS-2
HOBBRBIRAE THA OIS’ 57D SAW.
T2 HOBBDS Sorss Sy OFS
405068 SAD FS-78 Do) . 5B Hob
@S FS-88 THESTETRE DBNFY 5020 SAD),
62 TS-48 BHOEIS@S AT 1620 SATD
$H0050 DB FSE BHFIETVE o5& Hod
A 358 SAT.

184, ¥'S-3 HOAL FS-6 NP5 B S5y
&S0 D0es ?
1)  6V87 &
(2) 4789 %
@) 477 -
4) 8J24%
185. TS-28 H020H0D FS-1 O IS wod
SO ¢3 QP WS Sy o Do ?
1) &FSg0, V10 &
2) oSS0, V10 D
(3) &S0, 350
@) &930, 39 50
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136.

(5

If AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, and

DED + DEDED + DEED = DDFEG,

where A, B, C, D, E, F and G are different
digits, what is the value of Fx G ?

(1) '

(2)

(3)

137.

o o = b

(4)

Suneetha is working as a Deputy Collector
and gets a monthly salary of ¥ 74,000. She
used to spend it on three heads : i.e., Personal
and family expenses (P), Medical (M) and
Charity (C) and rest were her savings. P was
70% of her salary, M was 20% of P and C was
15% of M. When she gets a salary hike, her
salary is 60% higher than in the past. She
maintained the same percentage of P, but M
became 25% of P and C became 20% of M. The
difference between the two savings is :

(1) T 284

(2) T 370

138.

(3) T 424
4) T474

Vijay invested a sum of ¥ 8,192 at 15% per
annum in State Bank of India. What is the
compound interest for the sum invested by

Vijay for 1% years, if interest is compounded
5 monthly ?

(1) ¥ 1,740

(2) ¥ 1,735

(3) ¥1,640

|

(4) T 1,634

1)

136.

AB x DED = AB AB,

AB x DEDED = AB AB AB,

ABC x DEED = ABC ABC, 58050

DED + DEDED + DEED = DDFEG,

A B, C, D, E, F 005 G 304% ®08w
©ON&, F x G Dend o ?

137.

Q 2
(2) 4
3 6
(4) 8
VS Al sBEBr  HITOTIS

DO Jord 2Beso T 74,000. & DD
S IPS' ) BYoH : S385e
DO Hoewod PN (P), JB0 (M),
70¢ (C) HBAD WADY Joso e
. P & 230" 70%, M TBE, &)
PSS’ 20% HH8an C B, a8y MS* 15%.
e 2S00 Doy FoBINI®, D Heso
b0 §0T 60% DONOA, &8 P FBo&) M)
08 TERV) TIFA0N0H, &AM TwE,
D) PS’ 25% SHBAD C Tk Py M &
20% @©QDOG. DO 0N NS H58°500
006 :

(1) <284

(2) T 370

138.

(3) T424
4) T 474

D VE w0 ©H  wodorS
ROJSNTE 15% T'a3)d T 8,192 éPHA
VTR, (DB 5 RO 5@ 0D HIAS

1% oSS e ey dacd DS
DEPDAE SESG does ?
(1) 1,740
(2) T1,735
(3) ¥1,640
u4) T 1,634 ]




GS/2G/200

139. Some equations are solved on the basis of a
certain rule. Following the same rule find out
the missing number (?) :

2[413=14,4[615=32,5(716=44,6[8] 7="?
(.80
(2)
(3)
(4) 60

140. Arun finds the letters to be placed in the place
of ? and ' in the figure given and by
combining and arranging those four letters in
the figure given, he finds the name of a
country. The Capital city of that country is :

54
L 58 <)

9 b 7 4
‘\
7 U ? 5
g 1
2 E ! 6
N i
1 2 9 3
(1) Quito
(2) LaPaz
(8) Lima
(4) Georgetown

141. Sjva defines a number as ‘connected with 9’ if
it is divisible by 9, or if the sum of its digits is
9, or if 9 is one of the digits of the number, and
other numbers are all ‘not connected with 9.
As per his definition, the number of integers
from 1 to 90 (both included) which are not
connected with 9 is :

(1) 45

(2) 63

3) 172

4 81

(62)

189. £) HESeren Adn oo esErSomr
HMBodaGEAD.  ©8B A0SR
©RHB0D DAYEE () FTI0SR o
ER0b
2[413=14,41(615=32,5(716=44,6[87=?
(1) 50
(2) 54

| B 58
@ 60

140. & (800 DS TSR 2 Hdosw
TS G0 ©ETON ol
ORI B8O DS &8 Ted
50O OIS0 DO  @HBHEBO
o 30° @9ebaD 2.8 B0 TBwEy & hbowrdh.

)

& 5% BE) 2T 8 ?
9 5 7 4
£ i
7 U ? 5
)
2 \E Lf 6
1 2 9 3
1) 8
(2)  er e
| 3 Ol |
(4) 3‘563‘3

141. O Hops ©wond 9 TI0° ZrAOBHWS0E
B & HopsS ©0se IS0 9 ©HHos
S 9 & HopsS' 2.8 ©03 and etnSoes

domgen 98 ©I0RoBRASD
500 AOS Somgen o) 98
oIV BDASD Y @D B

JEDoTR. @S IS0 (W50
1 &0& 90 (1 SHBAKL 90 Doy EeNNE)
S8% 98 ©HVOTROLDEN FFTOS'©
QODS DO :
(1 45
(2) 63
3 72
@) 81
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142. Read the following instructions : 142. & S000 ArddeDd BSS08 :
A3B means ‘A is the Mother of B’ A3B &S ‘A @0 B By, &)
Al11B means ‘A is the Brother of B’ Al1B &S ‘A @90 B EBdE), S
A9B means ‘A is the Father of B’ A9B ST ‘A 0% B Bnd) $056
Al2B means ‘A is the Sister of B’ ; A12B @03 ‘A 0 B &), HS5

Which of the following expressions means that
P is the maternal uncle of Q ? o Mo,
& SrayeHoR ?
(1) QlIN3M12pP )  QIIN3M12P
(2)  P3S12N11Q . N11Q

P oo Q &g hdarsomr 5608 &388sme s

1) A

(4)  Q1i89p 143. & 5000 S50 Sy @) DO
HBoos :

143. Find out the odd one in the following series : 2, 4,7, 115, 1825, 28375, 424625

2, 4,7, 115, 1825, 28375, 425625 W 1us

1 us @ 7

@ 7 8.3

(3) 28375

0 oD O & €350, )0

80200, & 257 DE &8 CP. Soifey &)
0% 15% %0 HOaw 2.8% ¢8853) &6 C.p.
Eoffen S8) S0 <29 ST (HEBoDOA.
e 75% 2ED 05D
8 88300 DEonod < 385 eyl ©dod0s.
a8 855 S5 285 DS PBS 60% S8,
©OE  JFoN0S IPHOD BDH eroel
o8 058, 6 Anedo 250 B 3P0 o
7

. Priyanka brought 20 plates and 12 teacupk.
She marked up the plates by 15% on the cod

the cost of a teacup is 60% the cost of a platd
and she got no returns on unsold items, what
was her overall profit or loss ?

(1) Loas of <210
(2)  Loss of < 250
(3) Lossof <355
(4)  Loss of €475
uestion Deleted

1) <210 880
2 <250 830

(3) <355 30
@ < 475390
Question Deleted

145. S350 50050 £33 2.8 5D FabhSosk DD

ishna are engaged to do a G0, 2D OV HAITHI Ao Syirs
work. Mahesh working alone takes 8 hours 8,8 D) TahHade 8 Koerew DF0LS HEEBOD.
more to complete the job than if both worked S 2000 D T, QG EOD HATDS

together. If Krishna worked alone, he would

, oD DD PO Bavards esne 4.
need 4 3> hours more to complete the Jjob than

i)

ffoeren D8 sard). /S EOD 1 E:‘{m)m‘{ﬁ

if they both worked together. How much time 206 Haaho é&né}om ?
would they both take to do the work together ? (1) 74808en
(1) 74 hours
(2) 5 hours (2) 5 &oten
(3) 53 hours (3) 53 ffotren i
¥ 6hours J @ 6808 )
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146. Find the number of triangles and squares in the

following figure :

ZIN
N/

/

(1) 21 Triangles and 8 Squares

(2) 20 Triangles and 8 Squares

(3) 22 Triangles and 7 Squares

(4) 21 Triangles and 7 Squares

147,

148.

The question below consists of a problem figure

and is followed by four answer figures (1), (2), (3)|

and (4).
Select the correct answer figure that is
embedded in the question figure.

Ml

Question figur
(L) (2) (3) (4)

X
€3

Choose the correct mirror image for the given

figure among the four alternatives (1), (2), (3)

and (4). The mirror is represented by a line AB.
nswer \gures

i KA N AN

(1) (2) (3) (4)

Answer figures

Question figure

N

A wrrrereeerrrr B

(54)

146.

& 1800 QoS (Bharen DO
RGO DOPLD SN0 :

2N
N

(1) 21 (€32Haren SHO0W 8 thehd(Rren
(2) 20 (83202ren OO 8 LS |Rren
(3) 22/ Bzozren SO 7 SSRren

(4) 21 (8202 en DO 7 SedS|Rren

147.

148.

& BIHSS 2.8 |HF) VS0 HOKL Frentd
NPT DBOD (1), (2), (3) HOA (4)
5OA &) B.

15%) DS0S' FoHIBAS DBPS B2
TR -

1D¥) DS RArgrES OEren

XM

S (2) (3) (4)
& OHS 1% Tt (HErgsr) oiren (1),
(2), (3) HOASH @) & ADYS VYo Tosy
DB 1H8D02r) HotHEd. ©Po AB BS
O° $0° A0 05,

19¥) Do TS DEeen

(Al [p|7|¥][¥

(1 (2) 3) (4)
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149,

150.

Statement : Two indﬁstrialists‘,_ Sﬁyam and
Manoj, have industries right next to each
other. They have been working hard for their
industries’ development and both of them
manufacture the same product. Both spend
equal amount of time, use the same materials
and are equally hardworking. During the sales
period, Shyam had better product sale in
comparison to Manoj’s product.

Conclusion I :

The quality of material used by Manoj was not
good.

Conclusion II :

Power cuts ruined the quality of Manoj’s
product.

(1)  Only conclusion I follows
(2)  Only conclusion II follows

(3) Both conclusions I and II follow

(4) Neither conclusion I nor II follows

Statement : The civic authority has decided
that all the factories located inside the city
limits be shifted outside to reduce the level of
environmental pollution in the city.

Assumption I :

The pollution level in the city in future may
reduce after these factories are shifted outside
the city limits.

Assumption 11 :

Enough usable land is available outside the
city limit for these factories.

Assumption I1I :

Many of these factories may shift to some
other smaller towns to remain profitable.

(1) Only I is implicit

(2) OnlyI and II are implicit

(3)  Only II is implicit
(4) Only II and III are implicit

(65)

149, (5%

DL O FTWEDSen, FED
OO DS PO HE JET 2.5
SOFY HEES H/Fden GRryom. T
- S HOFHe @D  THo EHA
DATRTYH DO VRPEr 2.8 &ed)BD
SIS TIW. ARE® DS DAY
INTH, 28 JITFTOD  GHTTOPS
HOBD AIrSor  EADHAE DD TYK.
DFASTre 500, HSE @SS 5O)S,
T DDOAS @eh)B JFoirod O
G e,
G :
HSE  SHJWrAoDS D30NS  areged
2T B,
OO II :

JXB E5en DS &) Treaged THS0
Taow. :

1) I3 I8N0

2) I 3PS I8N0
(8) 10805 II e Bodkr 90387 on
@) 18Il en @809

150. (D80S : SHG0S’ DTS SN0 FOND

SNoTohB &SHE JBBS' &d) @)
Sorood SESo 200¢38 $EdoTred
D8 9HE oHOEROH0 APONOD0H.
el :

& SorTod S8 S8 Ienddf
SED0DS St FANHS  SKGoS’
SPe0NS oW S,

eIl

& Sorore §H0 S DB Jended
SAS0ES LD ©oLerens’ God.

eI : '

erSFODEOT GOLErdE & Sourod
O UNT ISV =12 To RATNRIPSTA SISV IRV o IN TR VR

(1) 1 ar@i‘o 9:655,@‘6(5

@) 15005 I SriSD @S558

OB TEST

©I358
@) 115805 I Sre3h oS55I
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e

- (56)

SPACE FOR ROUGH WORK



